1.5.2.-.-| | emdn® o8] = 8
N adand I8l e plojen [




el mdans sl e piodsr O

L

Sl

395

1)) o 1380 0 53
S yy9bas

003 (hroyS (o 153910 5
skl 09,5 — (hmazi bl o35
8053081 : s gzxiiails 0 ylos
o las 5 BT Lol slowl
Slgal aly codw! 831 ol Kiils
1385 olo pe0
http://www.Tastih.Nabi.ir/



el ) lislle oo » 0

o —
Al o i

axiuo olgs
1 JaSacs -1
3 dodie =2
0 Sygdome JBlam (s 4 edans -3
6 MRl b S 85 5 (8 yme -4
18 5 o5 S & Jite o o -5
25 S8l e o g delp SG -6
28 Nl s el y5 =7
61 ooliiwl 890 golio -8




e mhd sl s 5 ehs o O

=
l 23 i S &
J X

=2y ks L bl | jo i])35 anles (59, G 5l 039 (nl jo &5 (odllae
bl oo (53,0leS

0965 3 ghes Joe poid 5 i b LLS,I o Jlezl Cllae cacgome (nl 5o
B oy 590 (5855 D ygo & Dl jedome JBlam gy 4 (65 )5laS (Lol mdans
Smt JIsses 05 42 85 8 55900l5 * 331 05 JalS’ 235 5 7 om0 s 9 4385
N8l ey ol lawgs (5 55k 0,5 apalys canlin 1) pl aiig 5 )b 6w
WL ey e 5 Dlygsome Jlas g, 4 ey (Slrhes Slides 4l kS
Abl (o0 s g dsloee BB (e (1S53

Bl (oo 0 r 8 e nl Gt 4 o bl DU

Ky SSE @ o) (BlF 998 AL e g dnlons

=97 Ol g Slgdme Blas g 4 (e geband Sl ol
lete kX,

SRS 5 G0, po> dule

Sy b e bl Oj0 4 il 0033 g (29 S (585 B
059, JS sl eols daxe @b)b 9 & kw 0,050

SUSVE LT SRRCINITN SN I S

)

S Jla329 a3 08 ()b Jawgd (659005 138l 0 5 cpl ol S5 a5 5k ylea

A_Al;).’ Jﬁ—‘"‘ ‘bl_o.ﬁ (I S )‘)3‘ [a).’ Q"‘ ) o] 00 6‘“"9” dml;).’ 9 g;’>‘).|o

Pl pord Dygo ;o B ogd iy )5 slo oz olad g 005 Cole;y cumngd
gl ool inles )5 glesal) Cya anlio

1 Source

2 Software

3 Visual Basic 6
4 Error



e mhd sl s 5 ehs o O

L N L CP 2**—‘-“-3.)’.)15 Sels 16"‘:-’“ Shls Bl e 5 oo
g ool (60,8 1581 03 S lgie 4 o]l pgas Langi 1) (] b5 a5 w0
Sles oo Lol

W) 75l oy Sygo s Azl Slido 5 Big0l iz 1 05 ol a5 Ll )
28l (oo Egiaan o 5155l oalitl 465 50 Lol L3g oo

oyl d ao i) Slys 4SS gs, o eolasiSl ami o glls 58l a5 ]
S8l oy sle ases op Sasas aS ol e http://www.Tastih.Nabi.ir/
RS 46)‘:’?)[-3 5 <8byo BB ol g cnl jo

g i o lac Lol 558 BT Gl oon slosal, oliwl 51 s )ls b bren o
les Slo a8

e sSogr ouy sl 45 6,58 1250 GBI Clir wiaz )l bl I rizron
el 1) ol

ooly Ao 5

www.Nabi.ir

1 Interface

2 User Friendly
3 Open Source
4 Download



e mhd sl s 5 ehs o O

FPYV-FY

i sloml piltne (o B 4 5lal slp jlgenal slere; (y09ed 0osl
sy Mol a5 &l ess ol doe )0 el o) oreb il g Sy B9 4o
1 3 I . & .t & 1n JT
5 Solnl e98 el (b a0 Jrod (e (rmb g g 45 T il
dmio (paiz L g olp o5ee 5 5)lol la caz 5o CSESs Sled b 5t
DSl ool JSas Ggline sla ol b (g5ine

S92 3 03Y Sl Sl oo n 3l ol 53 ey So stk g (S 40 S
4 ‘5(:9....4_4 4_’>l.’)0 9 ).‘>r.»_w‘ Ql.?u‘ ng)l.w).e‘.w Q‘ﬁ" < > 0)3).’ Q"‘ d.l.o.’> )‘ o]
Slacdloy c(omd (ol Slamdiyg ctlo Goyg el 8,053) iz glo sl
Dy pbly 5sles jshie 4 e gland 0,3Vl g (e (jolee

QA Al g e st Sl il g (S Sl I ey YU 550 AT o
3o bl elas )] Gugn 1098 (o0 di ) 53 0590 839 0 b o] 15 o (e
alizee bLE ;0 65 51 glis)) 5 550,515 e ol 65, 51 5 (B S50s8 s
LgLaé_AsAa.;ébf)o.ooﬁsawbmsébowwﬁﬁja&&
2 b 9 6l S la (ile (Bail) Gl o5 S Sl | 5 (5)lo ST
b ad e ol jo il ofg i izl Al e (3T i0sd (o At (e 95
05,5 1zl s aloeil Eloslons 3illas o35, b 0yl Jae 4y Lol &l

S5o9beS yehiie & (Lol and udow g 09 p (l (ol sgpate g £9og0 4z S

| & - ‘e . 1 . - 4 1 .

o) Bl s s 5o Olytee o Clas Lol ¥ o (o)l (ogas 4 g
Sgad oolaiwl 18 Sles G5 Jie [0 o jgkaie 4

gl 4 a9y oml 5o sl )l Jslaie 5 e laes; ) (S b )
o el s i S @ e e Wb s Slides b cnl Rl
5 okl ez 50 (o SES b 90 o b mhaw ol Ly, L2l y0 085
ol £95 L sl b 5 L 0l Moo 10l ()T 2 9500 S 50 (6,500

1 Land Forming = Land Shaping = Land Grading = Land Leveling
2 Contour Line

3 Volume of Earthwork

4 Surface Irrigation

3



e mhd sl s 5 ehs o O

o L oo b ogdle (a5l (sl ey 505 e0lel 100 5
hile ST 50,5 )5 Gl (2505 (28,5 ki 0 skl LU Slast (oo
gz ool Slaal (a5 5 st )5 el )l o5 slo 2SI alewg o)y
owsajauﬁl &)l 4 glows
ol s ol 1y o eobassl 130 el ool )b pikins ool padans
Oleis ciS SLs Jolgd 55 g LS )oébuu.o.cp:o«vybwlo
obasdl pLai Sl o35 O] 005 (e oz 2l 5l G oy el ol
D903 (23]
ol 51 A LT 5ol samg ey dilizes Slilas gl Sglicte Sl
Lol ca a5 a Lol 0 wogiin (Sgle sl cils p el San Sl>Mlaol
ISSUPRS
o (39,5 Jlged alox 5l Sllas ples a0 a5 S col Mol imdans -1
39 (o0 G ey (50,5 Bl g (0,5 5l ool
o (RE058 (oo B (o (o8 ebaed 4 Mol ()13 )5 Jlgen -2
= S0y Al (9 &5 Sl a5 ISST (gyuk e gle g0k
S e 30,5 lged 4 g ol e 1) Lyl g
S ey b e Ol b a5 098 (o0 B! Shles 4100, 5l -3
b oo pend e gl )l po bl des AT ((sgtuns pla
4 ya) o paw ] (b a5 09l o Dbl Slles a4 lnols o -4
Dsliie (18 1 3508 Sz 55 30 e Vgane Wl (g0 et IS G o
ol SS90 Sz 90 (pl 5l S ey
Sraize glo 5 )lseal 18 (b a5 358 (oo DILI Sllos ay10p0,8 Slo =D
ghw So e a9 48 Gl Sl oile (B (e grlan j0 &S
b (o e S DS
el s Sllas ol A e &dly 45 (40,8 o

el 00 7 B oy b 51y 3YO 05 bkeo 0,25 G pol L yadls' dbsf yo Lo 1945-65 sldlw oo aloldyo 1



e mhd sl s 5 ehs o O

lygdeme Jlas (yg) 4 gdamd

&l Slygdome Jilam (s lel g, 5l 1Q‘9¢-’? -5~ « 1940 Jlo jo L ol
Jo—,8 45 (63529 L 00,0l 10g05 oolaiwl Lol)) pudans (o ol 0 s Al
s ey it Aol gl L LT 51 g sl a8l IS > 5y j0 1, bgsye cgla
ool 1947 Jlu 10 °Sla - gl =il 5 10, ool S Juatcs (slginn) 1o
Sl e plaiel leine Sl 1) (9, 0!l

05091 0979 sl a8 el (o e aabd S e 50 o (n e 5l skt
S 5 Gl pS pom o b e 50 5 055 plol S Slles Jilas ]
Db adls 0929 Jolss

Sloles Jlao oS iy an ol 35 o o [y Lo 2l jgdome Sl 3
5 Sl SLs lo o o Jolw Las gl oo o)L S bl S
Sosb |y b 5l m ooy o (Sl cced G e B0l o s S
Doled jg08 ) (srmb gl JB 35 50 51 45 iled Sl

dxio SO Lasd jo adad golasd les jl asslin (Ol jgdome Jlas g, Gillao
aio L5 bLE (go5ne Joolsh Ll jgdome goame a5 5000 j508 (oS 4 (Soime
5 dsb 5 e)] e (o> Ay Saled Gl amio (n e Hnje Ao Bl penis
dmio ;0 5| G germall Cum e cazio (nl Koo Ojle 4ol L Gl 2 e
] Sony bl ol 4 g Ko

5 P e sk il (o0 aSD gl @Bls 5o YL jo el oL bl LSl mdans o
o dams Lis 58 Sl 598 (saie doao Lol polae Lo (gl bl oyl glis )
el a5l ey e

Lo Jgo,d &Ll 5l Lxil jo 090 &l jgdome Bla> (g) 4 mdand (5,95 (i (n
Ll g oo b 00,,L80 581 0,5 igd g el o Ll &5 Lol 05l oo Hai8 50

B PR

1 C.V. Givan
2 G.E. Chugg

5



e mhd sl s 5 ehs o O

NPl b b o9 g (B 20
w210 (oo 5133l e b LT byl bl o
gl o0 Axlge ) doris dlin axmao b I8l 0 5 gl 5l

iled SIS sl (sl 2l 43S (55 2 558 05 4 0955

H Welcome

03l) Sle )5 w1 yuags Aol po
ST 09,5 Jua=s bl o9 s
A-0Y A\ fa 9l s o )loudy

oplac i85 ST Leinl) sliwl
uﬂm] Sl )T oSl e sitel sl 3 Sl o ol sl s o 2Tl o

é hitp://www.Tastih.Nabi.ir

Sauls | o __:,.t:,.vbﬁ.l.l_ﬂ sl o alalul h}f}ﬁ}&.&b“jﬂ UL‘:.'_,L,I}Q.L..L!.:: k?‘;)?'c-ljﬁmmihﬁlff'fld‘é,:

03l plen S gt gonss ol ¢ (ol 45 il 2o [T [B][X]

lidly lagll olles  aloghis . plsl Sgio

bt IMES
RT) %2,1] ¥3,1] RET fEA) HEAT  frAl Hed skl | iy ]"“J‘ﬂ“-'*“] W |
(LRI L
BRI RN R R R R ks ik
S I (SR (X I X N ST (TR R ygn0 g3 12 2 bohs Loled
o 1 ol
A Y4 fzar feA {54 E4l fr4 fes 5] ¥asmo cur 2 2ot apts alot
< ol
T (P  (FC=TI =TI =TI 1159 R T 7 7 D 05 3 o B (Ll
A | i
I T T = T 12 T 13 O T RN 17 5] et cher 33 a5 il 2kl
K i

i) ?2,?1 Tia,?] O T 1 N - S 1 -




e mhd sl s 5 ehs o O

2l oasis aols lis 5 UK (g5, a5 I8l e calises Glodity &b 4 y5iS]

o

oM

Eme

{3920 gy 33 aSii bkt Jolgd

A i
:xjg.zoupjamwbm@
A i
1Y 92u0 gy 93 2o bght Jslgd
A | i
[ ] ¥ soea g 53 a5 il alate
A i

1S 0y ledy iy 1

S35 = ) o) (Sl (o0 45T 2Bl (o0 Serds D90 4 (LD (e S ()
KOs L aslls bahs 51 SOy 0,65 0 o oS (65l el s aSLS (]
530 a5 el 10,8 T i) lsies Wil (s, 1 SlS b a8 0ids oguams 0,5
3,5 gy

S an pog ailis wampine &5 > 5w (nl 65y 2 ) oge Sl &S S
OVt o oo 4SS 1810 a5 ol b ausletes a5 ol weles Lo () cos
‘r».’>|)a|))l_§6l..aJ|al_m900)5l.’>ul,’>|)4.».~o)‘g9|).'a|4.’w9.oul.o).o.® Q-AS)—'>9
L feoses 5 bl la g Sl 5l oolinasl 5 | Lads Jas ol ouslod ovmlive
e A4S 30,5 P b 50,5 g oS e s ol 4 Mol oLy salys

Qﬁ.w

1 Horizon & Vertical Scroll
2 Drag & Drop

4
7



e mhd sl s 5 ehs o O

199 0 ylow sy 2
. “ T 1 = N AT B -
S| 4_.3;)|)J Q‘ S99y wg.o;o)l.w‘dSJLd o; ULMML)J‘ o
03 K yalls

w0 ylouh iy 3

. PR Y s . . .4 2 . . o & R &
S8 oy SUGel AlS (g s S 580 0 5 g g b e 0 Jls e
] Localy g o |l Ol cladass o Lol (gai0 Jolis a5 ol oo
2l oo T (o ghe)ly Az led

L bl seo 3-1

ChrHM s sadayy
b CErlD ssigay Oailgs

Ch45 3l 655

Chrl+D Za
T

AU

o> onigw 3-1-1

P e e 4 Oleday g ool oo (60g,9 Sledbl oles a3 ol L

b dplgs pol> waz 059 p slp 8l e g iaS dalgs5l

lodigy cyilgs 3-1-2

P 3l e et Lawgi (pl 5l i a5 0595 R Sl g 4 S Gl Sl L
3,1y 51381 p 5 gy 1y Slapdas g La ool &S ailgtie sl 000 5 0 055 138
oz gle 4t iy Slwlre 5 00,5 Gilag 1y Lesl pgid O 50 b ailed
Siled 7l Sl

1 Mouse Pointer
2 Menu Bar



e mhd sl s 5 ehs o O

'S o uzd 3-1-3
ganlon, S oyl i dle i 0as Slaools &dS ol a3 ol 5l eolazul
o ool o g asles g5l 0ped bl 5 LB 5 1 sl 00,8 Jlasl a5 Slaglass

RWDEIRY T RIS IR

‘29,5 3-1-4
22l oo )Rl e Sl e Sa 4 S ol

rolediss 3-2

Shift+F1  csai af l‘

;E Shift+F2 Cle Lyl
== Shift+F3 L5 vn)
—4 chift+F4 PEATI

LG ASI 3-2-1

el Y el | gaeed | Ry |

LB A%

e o

g o 33 A5 bghs Lalgd
o -

ingﬂ' g 33 0500 d il alald
KI ol
Y jgimn e 3 aSa bk Lalgd
K o

[25 ] smme cop 33 a8 Al aloty
A 2

azrgs adled (oo 3,lg 1) olgSds waly ey ey Sl (B8 9 Jsb i 50
=97 Sy uioen ol (LSS (699,9 sl axlg adST a5 bl adls

9 0L Hlws Lol HIa5 8550 axlg 45T S yge )0 .09 dialys (69,9 slo axly Joleo



e mhd sl s 5 ehs o O

SSdo 58 055 50 (o (3l A 5 e 50 4 559k 4 aBl SzS e b
Dled 25,5 L g xS eS ) ue olal lgds g cnlin ol b ogd ol
adogrye isu 30 5 Y g X joma cqa g9 0 KoaS jlasid byl Lolgs
Adled o)l
90 yo |yl ol ol caijls alols ey alils leoads clls y blis a5 S50 0
Sles 8y owlgie Y g X g

i [TEEEG ld“ﬁﬂ"‘-“"l o |

L Ly |
bl i H -
b |1 1 : ]
1 2
1 3
1 4
1 ]
1 E
1 7
2 1
2 2
2 3
2 4 —
2 ]
2 E
2 7
3 1
3 2 -

O 99 dbles o5ls Casl oo (B cpl jo 1y eal cllls y blas wlelss )| alS
B8 L5 Lt oty o i B a5 il oo bl s 8Lts Yy X
Sles oylg H g jo 1) oy coils p alass glas )|

$9) 2 Els sl 0,5 (59, » Slgtee polie oged 3)ls 50 Cdgges § Loy i
5l JUEI Jgaz 5o 5l 50 Slatses 4 "l O b odgas SIS 08,8 (e
25 pgas wle adled b ) S0 90 £l CacdlS s e )

1 Cursor

10



[
ey :
-
ra| raf o raf ral —

Cogod Bloed Wi Cond proseaii |
Sx: (|

Sy (|

i) %3} S
W Yoo fIar e
5 s ARd kel |

‘Sacalﬂf-u_l::l.wjbﬂ 2 ehap [

|

LD

| E

R=[l__ |

Cogdh il 3Sags 8550 cilais W

L]
L]

Xc =
Yo =

05,5 Jlad 1) abogyye S5 w3l Llod L 4y bgyyo gl aubile 45 550 0

Jujl.aa 0)‘9 |)SijX.>9x>w9

05 Sl 053 Sjgo ay (e S8 35 50 Slabe )l fled &S Shse o

35 p0 polia gos, S Jab e | ol Sjgo cnl 0 g 0S Jlb 1, abg e SCS
Sl oad azd 5 5oy Sz oy QB pliadled oly (fws Dyg0 a1y JiS
Jol> et slallas (55U slads 5l 8 35 50 Dlaides anlowe )0 9
S8 gl Lol 5550 Slatsee (g5l 4 9051 gz 43S ool nlply g

A 0ol

|y il 650,51 43 6,10 ,S B lies £amme Comd lod a5 R e pimon

5 0SS (lie 039 (LSS o3l i R laie ailes o g aaseie Joxe o
e o a8 Lol jlasdlocSe Je L a4y Ygana 5 000 0,15 (50 S5
Sl (oS oy oS5 o oS g o uile sl g 28 5l g (S llee



|)_ml_,39_w694..3;).b)ol

Q|9AJL;QMQ&MJM)Q9

2 s

.:'-' Py ey9r O

st | asuy | et B
L%y Loy

#  umd ozl K,

W [fo ] sercoco |
2 W [z ] srreoco |
3 W [f4 ] wreerco |
9 W [f5__| scorFoo |
5 W [f& |  sCOFFFF |
B W [80 |  #cocoer |
o Bz ] wrrcoer |
8 v [64 | | #cococo |
9 v [B6 | [wrracen |

owwéu\ LS‘)")SL’ )'| Lg)bﬁfl}

LSS, 3-2-4

d\.A.A.A—Q.’:' “.rg—u.’))ol_eri’/.)(:}.i"0&9&3&_&%)}3‘)&)9}5‘&}[}%‘% ’.M?U&.‘C).l‘)o

51_6.‘;)1
l)al_é.‘;l

12

Ol e gl I g 50 CanadlS jolaio cpl gl adylo 00,15 o) @I;yy

‘l_’).,ol_».mgi_’)‘u‘&mwdéﬁ)fwbgod;d)b o‘j?db

Chrl+T

CErl+M
Ctrl+P
Ctrl+R

fob oo Ol leo goleil

. 5L P

S oLl s
S akdi o led i+

Chrl+F .syﬁbf.sju}.ﬁb JE p



e mhd sl s 5 ehs o O

Tk’ Olawlxo plxil 3-3-1

g dmbne 2B a8 (pl bawg s grdand 4 bgrpe Jgla 9 Slowloe &S

ools aloed 5 dloe adsl slo sl by &S ey 337 el QLI Lol (oo il
gl 5l o el Feadgl el o 5e (Job cond 5 ar (Jouz )3 g g 00d
S Oldes g9 5 Jlado uoral jI J8 S Oldes 45 5 lado 0ol puonad
Stoolly 5 Lol 5o 09t 0sls ialed ool oal ol glS,] 5 sl 5l o
sdel o3 paai ;0 1 5l gl dges a5 .0l dudles sols ioles ol g 0ol seas

[_“] Report View...

=S

&
- - - (3 - "
’Qﬂ' I )
| || © 200, UGS, Jllq)-cusatiau;lwlon
@ ‘ ._..]Jq,_.,_..l _J_J-_} _H~.F—.__b:.;’——} —-ﬁ-:.—t_J
~
gl A 52 Tk 1551 B 0315 SAROET | 5ud S G B0k
¥ = 203.5714 Yo = 185.7143 Zc = 7.68bO66
MN=42 Dx=50 Dy=50 R=1.3
sigma (X ~2 1=2207500 sigma Yy ~2)=1740000 sigrna (X *y )=1657500 sigma(X*Z)=64428  sgmaly *7)=60656.5
Sx* (466964.3) + Sy* (69642.88) = -1292.992 Sy* (291428.7) + Sx* (69642.88) = 700.5078
Sx=-2.768931E-03 Sy=3.178684E-03
CUT (first)=4.4 FILL (first)=4.42
MC=22 Nf=19 Mo CutfFil=1
Rifirst)=0.9954751 d=0.028
G ) @ews (@il ewsl  (d2)oldoc esisoldie (dZ) idos esis gladio  (2) syl el
ks Lot sl RO L S i T - S N | - Ded oAy s S0 B A e
1 1 7.6 7.68 .08 F 05F 7.65
1 2 7.7 7.84 A4 F A1F 7.81
1 3 8.2 8 2C 23C 707
1 4 8.46 8.16 3C 33C 8.13 e

(Joloz g Slwlbre Ol Cgr e § dn 48D dws «Slawlows 0,2 (YL o

13

Dl 0929 0y o S 4SS g JB S LIB yo 050



e mhd sl s 5 ehs o O

! Tk Al gy 3-3-2

b als o0l il Ky SE & (o BT 5058 Ak sy ol ol
28 K55 9908 Sygo 6,5 Ll o Wb aS ol bl sosle ol S, a8
S5 Dygo 510 S Ll 5l b aS sl oo cpe; 5l iblie saisles

(S5 9198 Alds puwy 3-3-3

odpled S5, 72 45 03,5 (oo e () ST 8 Ak an S ol Sl L
3l s Gl 5 g Slelis )]l pudais g Gl 850 ail (oo oS oS
RWIRIE) e 3-2-4 e

o e 5 5 % & & 2
& [r8z 746 73 |59

it it Fa it il LT i it i

] ] ] ] ] ] o o

[7.98 r7.E5

I
y
I
g
i
=
i
g
I
oy
i
=
Il
=
I
o

7.1 7.1

P L
o
.
o

P L

i

=1
1
oo

P L
-
0
o

=1
=
|

LA
i
-y
)

P L

oy

.58 (782

o

e ea

Fanl
fe)
fe=
=

it

Pt
o
L

Fant
oo
P

P o
-
fu'e}

Lt
-1
—_—
o

il

544 5,35

P it
P ¥
i o
o
P %
Fa o
I
P i

5,03

14



e mhd sl s 5 ehs o O

L3S w0 alads u.ul.o.: 3-3-4
@pdb)wngTgL@olﬂgwjﬁ;ﬁquﬁ&l
Ade i |y ey Al

o A 1 g VTR ¥
23 faal  faa  fna ea fira) {18%

M ortoid [Po3.5714 |185.7143))

'Fz,a] BTV W T VI 1 VR P R 1=

($rSB 5oy JS e 3-3-5
Sl aalys plsl b Gl 89, 42 L S 62,56 5 @)l pSE o 4T
ol 3heslawl jo il oo Uas (6 )loka b ol o bl ybg, ddoad a5 il

il b nds a8

WS 135 S e

ey s Zas pooy adhin S S g Bl Sl S o
vl easds b ol Lo gy o L oeS o bl
il e L5agy9 paldo serly Loyl L sy

8347.56 P Elap Sl pa
2840.36 PSSl e

............................................

b,y 3-4

> 3 ChrlD g Uagial
CEHD g LB

ChHE o i oy

:).3‘9*45 dog}ﬂ 3-4-1
ey S g ) Gw j0 pgad SO ols I8 jslaie 4y pgal 0938) 43S
bylas 5 bLE Glste 5 05,5 S (e (g a8l 4 )5 (pl Bl (o0 (02,8

15



e mhd sl s 5 ehs o O

Solosls ], 8 1581 e )5 diey )0 a5 (e (59 5l ol Cllloy a8lg LG ) (253

Ly geal Bis> 3-4-2

Al (oo aolools H 8 18l e S Ay ey j0 &S G pgal Bi> 4y Ll ST
Lgl_(b A8 B> Sy 4—0; u—" Orod “L‘jl"’-’ oslatul d""’)f u-" )‘ “’““"‘9"""’
3,18 0155 55 00l e F pedand aids g S S gl

it 0 yusrd 3-4-3

Lo gi 00l dgd ey prdand Al by 3,8 g 65 il il 4 iS ol ey
)93 b s npal B S Ojgo o sl 0,5 5 gl ol e 4] 18l 68
Sl 0,055 55 JigeslS (55, » BMP

‘oaly 3-5

Fl aoliy Slaidly ‘ |

Chrl4+F1 aalipy aglya

[

:d.oU).g ‘_sl.o.i.b‘) 3-5-1

b ales oyl L a8l e JelS slesal) laled crge 43S Gl

MU).! O)LB)Q 3_5_2

aadllas isu ol 5o aslgies | 18l a5 ol 8 90,8 olieS Sloedgs 9 (5 yxe
ouile

:)LRO)M‘M& .’ 4

Q)MMWOOM‘M;QJ‘)‘ J..u‘j.».».n @‘;ﬁ.’ywﬁﬂ Mfu-&-"

16



e mhd sl s 5 ehs o O

ol o Sles auled eolawl 4y 33l 5l adlgie prdans ALl ey ju o )i Sy

Lo 0 yloly gy 6
a;S ol el L asd) G sledges® 9 Joloar ¢ e gdand Slwlows &5
5O 9o 43S wiiled Cew o 43S pl o Slas 0l dales coly inled g dwloce
il e 3-3-1 i

17



e mhd sl s 5 ehs o O

N3 oy S 4 Jlho S Jo

gl |y ey 25 Sled B biaws (oo DL Ty (0858 (i) 50 103 a1 Lk
ALl g SIS gr05 Al g 03g0d e ) (652,51 5 )15 e g laie 00 gad

18

Jujl.aa (o ‘) o0 C..Ja,uu 5
D=70 «ass blas alols
N=31 asii bl olass

R=1.26
5oy (0.1 0.3) )l c 5 s
S 0 (02— 05) Lg)l.:.J P Oges Sy 50 e

* 37 + 3715 « 3702 + 36,595 + 3065

s 372 * 36,55 * 35,0 s 2070 + 356,45

« 3720 + 268 + 3652 s 26,45 + 36,43

« 3711 & 26,70 * 367 s 36.5 « 36,4

« 3702 + 3671 * 35,54 + 3652 « 36,33

II
+3648  +3623  +3618 | l

() )l 5 2gese

<—<

*3625 317 eER |




e mhd sl s 5 ehs o O

So—o 3l Hlemie il ools Lo ay 1) 28ly 31T g5 alids a5 g0 40 1 Fwly
SLS aia) g )0 1y o88ls pgal g 9ged Ll T g og3dlt anF el

ol 1,8

I Oy Sl i At Jo> j0 Jol pud
L | esay | dgieee]| W | o ) . o
bt g blai olass dy axgi @ 0ll 0 209

by g 350 s e 5 Jobo Ll Jolsd
ail> Al ols .ogh o 48,5 Ll 0 490
:XJWMJ'\'M}’W*‘”E‘Q‘ @Adi»_w S blas MUMEJW R

1 >
. . 2] Dl a8 5 las o 35 Jte ol yo ol
:x;mmjawwbmm

o | o P 3O LBt it (Dlonogi ol b
Y aes g 3 aflod bkt Lalgd oadlin pgad ;0 aS gpolie b, sl
— - T

:\*Jg_m.;.ppqi,_au,,_.mbmm
KI i

5 ab alsS o b8 ey ST L w5 |
a8 bl 5l So ;2 5, » SIS L . _ _ ”L;Li”'
5o alins Ojgo b 1) ol b elay )| 2 g ? 32;2 |
rgas 3l il (o 3l )30 e ! ! 5%
e (B
= 3l pals 4SS bla 050y 1aiSS j g 3652
oaseial sl glas )l Lo &5yls )18 e : 1? -
U o e
((457) (446) Llis sl Jls cnl 5o g ‘ B
wadly> 8 )ly yio jlaie (957) « (546) g g =
0,5

19



D E
)4

Sk (01 |, |03

Sy:([02 |. |05

R-[E ]

Cogdh b 3 [5ags 4550 olaiz W

[
[

Xc =
e =

e mhd sl s 5 ehs o O

ryas ;045 shiles pow isu )
) o 4y by po 435 .00S 0 calive
Aoy o> |y Lol polie g 00,5 Jled
!l o LR ke imen pbles (o 0l
pled (o0 3)lg
Trog ey JB S pe Slaise 9590 50
oo il ey g Slatsee oyl a8
WSy 50 4S 39d (oo dewle g
@0, slea bl olasd ;o Fue (o) 0,lels
) pled 9550 50 Joo (nl g oad )0
Cawdy lael Eaamme Lo Sgdon plxl b

as83 5l 50 Ja5S e Jsb plgie 4 el

A aalgs Jes aline gy a4 B35 56 (B0 3 50 50 0 Salys
558 5o latien dnmlne g 55 50 s slhs, 45 a3l 4
39 Ol il 5 (pwain plaie JUCOI & (ro) oS aloz 51 85l 392
e 5 51 gsalis 8 g, b g, ol Ll JISCEI S5 S5 8538 0 iz
2l 5 00508 dnlone | &3S o Dlaidee (s (g 4 debile &5 (S50 001

s | asuy | et B
Le%iy v lo b i

# U gl &,

U W [0 | srarec |
2 W [#17 | sporacs |
3 M [B3 | sciFagr |
4 ¥ [343 | wavFoea |
5 W [3%E5 | | #epECHD |
B v [Es | pEEEnsE
N —
0 e
3 W | #2D5909

20

43S S Jomme I8l o 4]y Slewloxs
"0355 Slum 595 J&5 55 e latis”
1, YC g XC polie googoi Jlad |,
by ol ©pgme ol e jeaslei ol
a1y ol 58l ey U os S b, Jlad el
led dwls L5095 & a0

S Ky amls wlendas 31 as o
oS a1y (8155065 Al o

2 d9ge gl Jlas oS5, sl sl
oS5y el slp 936,01 sae s 4
A o AL )0 D> g0 gl iSTas
il 3590 50 g o S Hlai o 1, 37,29



o)l s sl poye

i ol 50 eailes co o0litl conlio ol cule, b olgids cilelis | 51 le blis
37,29..,36,33 536,17 36,01 s 5 a1, clelis | 4 4z 5 s 150,15 1, 15
oS (50l 3
5| 2aS £l b blis (gl auilyies wdgas solitanl g Sglize 5,9 51 iSTas
asle ailed soliiowl 505 SIS, 5 ptien eI b LS (6l g ) LSS,
) Slwle 5 @l pailye 0951 2808y plmil 531 05 4 plo (sl ools 349
osled oamlive
amio ;0" B Sey s i 4 nS (g5 p oo GBS g Al csmlie Cax
a5 dalyS o 5 Zel ol 5 50 azslaile s ppal S S 18 5 Ll

g kT TR i i
kT TR ST ¢ ¥




e mhd sl s 5 ehs o O

aiEanS 69 = srSE L 6l bl Sl 4tk ssalie cux
Slg3 s 15 Ak alin (gl i apiles KIS 33l a0 Lol amio 4 zedans
508 S ygo 30,51 Ll o b aS el iblie 5 bl bl o ) 45 o
Sz $)0 S5 Ll o b a8 el iblis 5 bli Kbles 508 S5, 5 (FILL)
sl 00 4yl abals o LS )0 (63 S b (5)l0,5 5 plie (CUT) w105

72 S LGS (i easliv 5 s Slewle plil cgr (555
Sles SIS 138l 0 5 Lol amio jo M mdans Sl 435 (g9, 2 alais
3o Jeoz (JLiw (pl 050 j0 a5 0,5 salgs camlin Jyax o 1) Glwbre 4lS

RCOU IPSVN B

22



Jalﬂﬁu_]::t..,w ).10-)5..: |:|

Jsl aess o)l 2udoansi 51591 00 o3l) ro,S s tygs Aol
Xc = 196.4516 Yc = 257.4193 Zc = 36.6642
N=31 Dx=70 Dy=70 R=1.26
Sx(first)= (0.1, 0.3) Sy(first)= (0.2, 0.5)
sigma(X"2)= sigma(YN2)= sigma(xX*Y)= sigma(X*2)= sigma(Y*2)=
1484700 2597000 1484700 222874.4 291655.7
Sx* (288309.7) + Sy* (-82983.75) = Sy* (542793.8) + Sx* (-82983.75) =
-410.5781 -924.5938
Sx=-0.001 Sy= -0.002
CUT (first)=1.99 FILL (first)=2.13
Nc=13 Nf=18 No Cut/Fill=0
R(first)=0.9342722 d=0.02

(€9) Jl A glisl(z) g9 9lai0(dZ) €9 9 ,lAs0(dZ) eWi,l(2)

elai,l au.z.aaau.b.uu .J.v.sgs\SLvuLJ.u: .\.w;s\SLvuLJ.u: Mwl.p

1 1 37 37.17 A7 F 15 F 37.15
1 2 37.2 37.03 A7 C 19C 37.01
1 3 37.29 36.89 4C 42 C 36.87
1 4 37.11 36.75 .36 C .38C 36.73
1 5 37.08 36.61 47 C 49 C 36.59
1 6 36.48 36.47 .01C .03C 36.45
1 7 36.25 36.33 .08 F .06 F 36.31
2 1 37.15 37.1 .05C .07C 37.08
2 2 36.95 36.96 .O1F .01C 36.94
2 3 36.8 36.82 .02 F 0 36.8
2 4 36.7 36.68 .02C .04C 36.66
2 5 36.71 36.54 A7 C 19C 36.52
2 6 36.29 36.4 A1F .09 F 36.38
2 7 36.17 36.26 .09 F .07 F 36.24
3 1 37.02 37.03 .O1F .01C 37.01
3 2 36.9 36.89 .01C .03C 36.87
3 3 36.62 36.75 A3 F A1F 36.73
3 4 36.7 36.61 .09C Jd1C 36.59
3 5 36.54 36.47 .07C .09C 36.45
3 6 36.18 36.33 A5 F A3 F 36.31
3 7 36.02 36.19 A7 F A5 F 36.17
4 1 36.95 36.96 .O1F .01C 36.94
4 2 36.7 36.82 A2 F AF 36.8
4 3 36.45 36.68 23 F 21F 36.66
4 4 36.5 36.54 .04 F .02 F 36.52
4 5 36.52 36.4 12C .14 C 36.38
5 1 36.65 36.89 24 F 22 F 36.87
5 2 36.45 36.75 3F .28 F 36.73
5 3 36.43 36.61 A8 F A6 F 36.59
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5 4 36.4 36.47 .07 F .O5 F 36.45
5 5 36.38 36.33 .05C .07C 36.31
CUT (final)=2.28 FILL (final)=1.8
Nc (final)=16 Nf (final)=14 No Cut/Fill (final)=1

R(final)=1.266667
Al o lowis ©S39,9 Juslan a1y by (a>g,5 suslse Al ta>gi

http://www.Tastih.Nabi.ir/
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Cal cl sTastih
Cal = cl sTastih
YA i)y sUiwly o bLES of uxS S| 4>
Cal.in X0 = 5
A sdgae e sUiwly o bl dluxrd yESI4s
Cal.in YO = 5

DA e G ) S e
cal.in dX = 50

"Eogas e Oy ) LS pye

Cal .in R=1 32
"ol g 50 cud HLe edgus JEI 4
Cal.in_Sx1 = 0.1

1 Class
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"ol Ggr 50 cud jLe sogus LISIus
Cal.in Sx2 = 0.8
Yool g0 ssae Sy 5o cud L odgus JOIus
Cal.in_Syl = 0.02
"ol g0 e Sy o aud JLs odgus ST
Cal.in Sy2 = 0.4
N I e o
Cal .in_CheckShib = True
" Ui Sy dhis Olaiz Jab
Cal .in_XcManual = 150
Cal .in_YcManual = 150
T L ogh wlus HLSdes JES HSy0 Olais
Cal .in_CheckCentroid = Fal se
s blas s g Ladyl
For x =1 To 5

For y =1 To 5

Cal.in_a(x, y) = Round(Rnd() * 10, 1) + 20 '20-30

Next 'y
Next X
"albwle alfl 5 aledbl @)l s
Cal . Run

fobwls LD gals 295 LS Sz
Cal.CreateFile ("c:\report. htnt)
C 5000 busd 295 JoLd gols
Shel | "expl orer.exe c:\report. htnt
IS o 51t s sl gz o gl s 90 «midE ki 5l a8 Jle 4o
b o Cal pibel sTastih
sloul e o (69,9 oyl b oo ais 4 Cal . RUN jgiwo b jghaw ol
o 2olal g o089 Ojso o olacl S aS ol alils a>g5) .5, ls welaisl ol
(sl
plssil 1) Slwle plssil g (699,9 Sledbl ijls o Joe Cal . RUN g0
BRIV PP

osCal.CreateFile ("c:\report.htn') o uslhug
odd sk 9o g phite Sjpo ]y (29,5 g 0l plonl Slesle a5 358 Jlie
Slsaalgs l3ci\report. htmLi o

Jlb S oS e oot o Jes J b Shel | e s g Ll
Blo palys ioled 5 oS 1,1 €XPl O er . exe

1 Object
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Db 0 99750 daras CD (g9, 5 51581 p 5 JolS Ly ygmn

:"clsTastih.cls" Lt <l s

| ####HR AR Tastih Arazi v1.0 CLASS #########IH###HHH
| ####HRARA## Programer ;. Nabi Karamal | zadeh #########
| ##HHHRAARAAE Dt tpo )/ waww, Tast i h. Nabi . i1/ #####8#####H##
| #####RRR### Copyright 2007 All rights reserved. ####

Dim dz() As Si ngl e
Const C34 = """"
Const Cr = vbOr

Private Type typQutput

N As Single
dX As Single
dY As Single
R As Single
Xc As Single
Yc As Single
Zc As Single
X2 As Single
Y2 As Single
XY As Single
XZ As Single
YZ As Single
al As Single
bl As Single
cl As Single
a2 As Single
b2 As Single
c2 As Single
Sx As Single

As Single

Sy
Sx1 As Single
Syl As Single
Sx2 As Single
Sy2 As Single
CUT_first As Single
FILL_first As Single
Nc_first As Single
Nf _first As Single
NOCF_first As Single
r_first As Single
d As Single
CUT_final As Single
FILL_final As Single
Nc_final As Single
Nf _final As Single
NOCF_final As Single
r_final As Single
dZ_string_first() As String
dZ_string_final () As String
b() As Single
c() As Single

End Type

Di m Qut putData As typQutput

Private Type typl nput
a() As Single
x0 As Single
y0 As Single
dX As Single
dY As Single
R As Single
Sx1 As Single
Sx2 As Single
Syl As Single
Sy2 As Single
Checkshi b As Bool ean
XcManual As Single



YcManual As Single
CheckCentroi d As Bool ean
End Type

Dim I nput Data As typl nput

Function Run()
On Error Resume Next

ReDi m Qut put Dat a. b( | nput Dat a. x0,
ReDi m Qut put Dat a. c( | nput Dat a. x0, | nputDat a. y0)
ReDi m dZ( 1 nput Dat a. x0, | nput Dat a. y0)

ReDi m Qut put Dat a. dZ_string_first(InputData. x0,
ReDi m Qut put Dat a. dZ_string_fi nal (1 nputDat a. x0,

I nput Dat a. y0)

Cut put Dat a. R = I nput Dat a. R
Qut put Dat a. dX = | nput Dat a. dX
Qut putDat a. dY = | nput Data.dY

For i = 1 To InputData.x0
For j = 1 To InputData.y0
I'f I'nputData.a(i, j) <> 0 Then
Next j
Next i

QutputData. N = N
I T I nputData. CheckCentroid = True Then
For i =1 To InputData.y0
For j = 1 To InputData.x0
IT InputData.a(j, i)
Next j
Next i
Xc = Xc0 / N
Cut put Dat a. Xc =
El se
Xc = I nputDat a. XcManual
Qut put Dat a. Xc = | nput Dat a. XcManual
End |f

Xc

I T I nputData. CheckCentroid = True Then
For i =1 To InputData.x0
For j = 1 To InputData.y0
IT InputData.a(i, j)
Next j
Next i
Yc = YcO / N
Cut put Dat a. Yc =
El se
Yc = I nputData. YcManual

Qut put Dat a. Yc = | nput Dat a. YcManual

Yc

End If
For i = 1 To InputData.x0
For j = 1 To InputData.y0
I'f InputData.a(i, j) <> 0 Then
Next j
Next i
Zc = Zc0 / N
Cut put Dat a. Zc = Zc
For j = 1 To InputData.y0
For i = 1 To InputData.x0
I'f InputData.a(i, j) <> 0 Then
Next i
Next j
For i = 1 To InputData.x0
For j = 1 To InputData.y0
I'f I'nputData.a(i, j) <> 0 Then
Next j
Next i
For i = 1 To InputData.x0
For j = 1 To InputData.y0
I'f I'nputData.a(i, j) <> 0 Then
I nput Dat a. dY)
Next j
Next i
For i = 1 To InputData.x0
For j = 1 To InputData.y0
I'f InputData.a(i, j) <> 0 Then

i)

<> 0 Then XcO = Xc0 + j

<> 0 Then YcO = YcO0 + j

2 s sl e

I nput Dat a. y0)
I nput Dat a. y0)

* | nput Dat a. dX

* | nputData.dY

ZcO0 = ZcO + InputData.a(i, j)

X2 = X2 + (i * InputData.dX) ~ 2

Y2 = Y2 + (j * InputData.dy) ~ 2

XY = XY + (i * InputData.dX) * (j *

XZ = XZ + (i * InputData.dX) * InputData.a(i,
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Next j
Next i

For j = 1 To InputData.y0
For i =1 To InputData.x0
If InputData.a(i, j) <> 0 Then YZ = YZ + (j * InputData.dY) * InputData.a(i,
i)

Next i

Next j

Cut putData. X2 = X2
Cut putData. Y2 = Y2
Cut put Dat a. XY = XY
Cut put Dat a. XZ = XZ
Cut putData. YZ = YZ
al = X2 - N* Xc ™ 2
bl = XY - N* Xc * Yc
cl =XZ- N* Xc * Zc
a2 = XY - N* Xc * Yc
b2 =Y2 - N* Yc » 2
c2 =YZ- N* Yc * Zc
Cut putData.al = al
Qut putData. bl = bl
QutputData.cl = cl
Cut putData. a2 = a2
Qut put Dat a. b2 = b2
CQut putData.c2 = c2

Sy = (cl1 - (al * c2/ a2)) / (bl - (al * b2/ a2))
Sx = (¢l - bl *y) / al

Cut put Dat a. Sy Sy

Cut put Dat a. Sx Sx

I T I nputData. CheckShib = True Then
Qut put Dat a. Sx1 = | nput Dat a. Sx1
Qut put Dat a. Sx2 = | nput Dat a. Sx2
Qut put Dat a. Syl = InputData. Syl
Qut put Dat a. Sy2 = | nputData. Sy2
Sx1 = InputData.Sx1 / 100

Sx2 = InputData.Sx2 / 100

Syl = InputData. Syl / 100

Sy2 = InputData.Sy2 / 100

T Sx < 0 Then Sx1 = -Sx1: Sx2 = -Sx2

I Sy <0 Then Syl = -Syl: Sy2 = -Sy2

dSx1 = Abs(Sx - Sx1)

dSx2 = Abs(Sx - Sx2)

dSyl = Abs(Sy - Syl)

dSy2 = Abs(Sy - Sy2)

I T dSx1l < dSx2 Then Sx = Sx1 Else Sx = Sx2
If dSyl < dSy2 Then Sy = Syl Else Sy = Sy2
Cut put Dat a. Sy = Sy

Cut put Dat a. Sx = Sx

End |f

ZAO = Zc - Xc * Sx - Yc * Sy

For i 1 To InputData.x0
For j =1 To InputData.y0
I'f InputData.a(i, j) <> 0 Then
QutputData.b(i, j) = ZA0 + i * InputData.dX * Sx + j * InputData.dY
*
Sy
QutputData.b(i, j) = Format(QutputData.b(i, j), "## ##")
End |f
Next j
Next i
For i = 1 To InputData.x0
For j =1 To InputData.y0
I'f I'nputData.a(i, j) <> 0 Then
dZ(i, j) = InputbData.a(i, j) - CQutputData.b(i, j)
dZ(i, j) = Round(dzZ(i, j), 2)
[f dZ(i, j) > 0 Then QUT = CUT + dZ(i, j): Nc = Nc + 1
If dz(i, j) <0 Then FILL = FILL + dZ(i, j): Nf = Nf + 1
I'f dzZ(i, j) = 0 Then NOCF = NOCF + 1
End |f
Next j
Next i

Qut put Data. CUT_first = Format (Abs(CUT), "##. ##H")
QutputData. FI LL_first = Format (Abs(FILL), "##. ###")
QutputData.r_first = QutputData. CUT_first / QutputData.FILL_first
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Qut putData. Nc_first
Qut put Dat a. Nf _first
Qut put Dat a. NOCF_fir st NOCF

d = ((1 +InputbData.R) / (2 * InputData.R* N)) * (InputData.R * QutputData.FILL_first -
Qut put Dat a. CUT_first)

Qut putData. d = Format (d, "##. ###")

Nc
Nf

| T QutputData.r_first > InputData.R Then d = -d

For i = 1 To InputData.x0
For j = 1 To InputData.y0
I'f I'nputData.a(i, j) <> 0 Then

[f dz(i, j) > 0 Then QutputData.dZ string_first(i, j) =
Format (Abs(dz(i, j)), "## ##") & " <font col or=red>C</font>"

[t dz(i, j) <O Then QutputData.dZ string_first(i, j) =
Format (Abs(dz(i, j)), "##. ##") & " <font col or=bl ue>F</ font>"

[T dz(i, j) = 0 Then QutputData.dZ string_first(i, j) = "<font
col or =#FFOOFF>0</ f ont >"

dz(i, j) =dz(i, j) +d
dz(i, j) = Round(dz(i, j), 2)
I £ dz(i, j) > 0 Then QutputData.dZ_string_final (i, j) =

Format (Abs(dz(i, j)), "## ##") & " <font col or=red>C</font>"

I £ dz(i, j) <0 Then CQutputData.dZ_string_final (i, j) =
Format (Abs(dz(i, j)), "## ##") & " <font col or=bl ue>F</ font>"

I'f dz(i, j) = 0 Then CQutputData.dZ string_final (i, j) = "<font
col or =#FFOOFF>0</ f ont >"

Qut put Dat a. c(i,

i) InputData.a(i, j) - dz(i, j)
QutputData.c(i, j)

Round( Qut put Data.c(i, j), 2)

End |f
Next j
Next i
CUr = 0
FILL = 0
Nc = 0
Nf =0
NOCF = 0
For i = 1 To InputData.x0
For j = 1 To InputData.y0
I'f I'nputData.a(i, j) <> 0 Then
If dz(i, j) > 0 Then QUT = CUT + dZ(i, j): Nc = Nc + 1
I'f dz(i, j) <O Then FILL = FILL + dZ(i, j): Nf = Nf + 1
I dz(i, j) = 0 Then NOCF = NOCF + 1
End |f
Next j
Next i

Qut put Dat a. CUT_final = Format (Abs(CUT), "##. ###")

Qut putData. FI LL_final = Format (Abs(FILL), "##. ###")

Qut putData.r_final = QutputData.CUT_final / QutputData.FlLL_final
Qut putData. Nc_final = Nc

Qut put Dat a. Nf _final = Nf
Qut put Dat a. NOCF_fi nal = NOCF

Cl ose
End Function

Public Sub CreateFile(FileNane As String)
Open FileName For Qutput As #1

Print #1, "<htnd >"

Print #1, ""

Print #1, "<head>"

Print #1, "<meta http-equiv=" & Chr(34) & "Content-Type" & Chr(34) & " content=" & Chr(34) &
"text/htm ; charset=w ndows-1252" & Chr(34) & ">"

Print #1, "<title>report tastih v1.0</title>"

Print #1, "</ head>"

Print #1, "<style type=" & Chr(34) & "text/css" & Chr(34) & ">"
Print #1, "<!--"

Print #1, "td {"

Print #1, "font-famly: tahomm, arial;"

Print #1, "font-size: 12px;"

Print #1, "}"

Print #1, "-->"

Print #1, "</style>"

Print #1, "<body>"

Print #1, ""

Print #1, "<table border=" & Chr(34) & "1" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "tablel" & Chr(34) & ">"

Print #1, " <tr>"

Print #1, " <t d>"



Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "tablel3" & Chr(34) & " cellspacing=" & Chr(34) & "5" & Chr(34)
& " cellpadding=" & Chr(34) & "0" & Chr(34) & " bgcolor=" & Chr(34) & "#000080" & Chr(34) &
wan

Print #1, " <tr>"

Print #1, " <td dir=" & Chr(34) & "rtl" & Chr(34) & " width=" & Chr(34) & "50%
& Chr(34) & "><b><span lang=" & Chr(34) & "fa" & Chr(34) & "><font color=" & Chr(34) &
"#FFFFFF" & Chr(34) & ">"
Print #1, " &#1606; &#1585; &#1605; &#1575; &#1601; &#1586; &#1575; &#1585;

&#1578; &#1587; &#1591; &#1740; &#1581; "

Print #1, " &#1575; &#1585; &#1575; &#1590; &#1740; &#1606; &#1587; &#1582; &#1607;
&#1575; &#1608; &#1604; </ f ont ></ span></ b></t d>"

Print #1, " <td dir=" & Chr(34) & "rtl" & Chr(34) & " width=" & Chr(34) & "50%
& Chr(34) & "><b><span lang=" & Chr(34) & "fa" & Chr(34) & "><font color=" & Chr(34) &
"#FFFFFF" & Chr (34) & ">&#1576; &#1585; &#1606; &#1575; &#1605; &#1607;

&#1606; &#1608; &#1740; 8&#1587;: "

Print #1, " &#1606; &#1576; &#1740; &#1705; &#1585; &#1605; &#1593; &#1604; &#1740;
&#1586; &#1575; &#1583; &#1607; </ f ont ></ span></ b></ t d>"

Print #1, " </[tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"

Print #1, " <tr>"

Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "table2" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)
& " cellpadding=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <td>Xc = <b>" & QutputData.Xc & "</b></td>"
Print #1, " <td>Yc = <b>" & QutputData.Yc & "</b></td>"
Print #1, " <td>Zc = <b>" & QutputData.Zc & "</b></td>"
Print #1, " </tr>"

Print #1, " </tabl e>"

Print #1, " </td>"

Print #1, " </tr>"

Print #1, " <tr>"

Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "table3" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)
& " cellpadding=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <t d>N=<b>" & QutputData.N & "</ b></td>"
Print #1, " <t d>Dx=<b>" & Qut put Data. dX & "</ b></td>"
Print #1, " <t d>Dy=<b>" & CQutputData.dY & "</b></td>"
Print #1, " <t d>R=<b>" & QutputData.R & "</ b></td>"
Print #1, " </tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"

I T I nputData. CheckShib = True Then

Print #1, " <tr>"

Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "tabled4" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)
& " cellpadding=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <td>Sx(first)= ( <b>" & QutputData.Sx1l & "</b>, <b>" &
Qut putData. Sx2 & "</ b> )</td>"

Print #1, " <td>Sy(first)= ( <b>" & QutputData.Syl & "</b> , <b>" &
Qut putData. Sy2 & "</b> )</td>"

Print #1, " </[tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"

End |f

Print #1, " <tr>"

Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &

Chr(34) & " id=" & Chr(34) & "table5" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)
& " cellpadding=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <td>si gma(X"2)=<b>" & QutputData. X2 & "</ b></td>"
Print #1, " <td>si gma(Y"2)=<b>" & QutputData.Y2 & "</ b></td>"
Print #1, " <td>si gma(X*Y)=<b>" & QutputData. XY & "</ b></td>"
Print #1, " <td>sigma(X*Z)=<b>" & QutputData.XZ & "</ b></td>"
Print #1, " <td>si gma(Y*Z)=<b>" & QutputData.YZ & "</ b></td>"
Print #1, " </tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"
Print #1, " <tr>"
Print #1, " <td>"



Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "table6" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)

& " cel | padding=" & Chr(34) & "0" & Chr(34) &">"

Print #1, <tr>"

Print #1, " <td>Sx* (<b>" & CQutputData.al & "</b>) + Sy* (<b>" & QutputData.bl &
"</b>) = <b>" & QutputData.cl & "</ b></td>"

Print #1, <td>Sy* (<b>" & QutputData.b2 & "</b>) + Sx* (<b>" & QutputData.a2 &
"</b>) = <b>" & QutputData.c2 & "</ b></td>"

Print #1, </tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"
Print #1, " <tr>"
Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "table7" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)

& " cell paddl ng=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <t d>Sx=<b>" & QutputData.Sx & "</b></td>"
Print #1, " <t d>Sy=<b>" & QutputData.Sy & "</b></td>"
Print #1, " </tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"
Print #1, " <tr>"
Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "table8" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)

& " cell paddl ng=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <td>CUT (first)=<b>" & QutputData.CUT_first & "</ b></td>"
Print #1, " <td>FILL (first)=<b>" & QutputData.FILL_first & "</b></td>"
Print #1, " </tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"
Print #1, " <tr>"
Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "table9" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)

& " cell paddl ng=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <t d>Nc=<b>" & QutputData.Nc_first & "</ b></td>"

Print #1, " <t d>Nf =<b>" & QutputData.Nf _first & "</ b></td>"

Print #1, " <td>No Cut/Fill=<b>" & QutputData. NOCF_first & "</b></td>"
Print #1, " </tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"
Print #1, " <tr>"
Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "table9" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)

& " cell paddl ng=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <td>R(first)=<b>" & QutputData.r_first & "</b></td>"
Print #1, " <td>d=<b>" & QutputData.d & "</ b></td>"

Print #1, " </tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"
Print #1, " <tr>"

Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "1" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "tablel2" & Chr(34) & " bordercolor=" & Chr(34) & "#000000" &
Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34) & " style=" & Chr(34) & "border-

col | apse: col | apse" & Chr(34) & " cellpadding=" & Chr(34) & "2" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <td bgcol or=" & Chr(34) & "#000080" & Chr(34) & " align=" & Chr(34)
& "center” & Chr(34) & "><b><font color=" & Chr(34) & "#FFFFFF" & Chr(34) & ">(x)

&#1591; &#1608; &#1604; </ f ont ></ b></t d>"

Print #1, " <td bgcol or=" & Chr(34) & "#000080" & Chr(34) & " align=" & Chr(34)
& "center” & Chr(34) & "><b><font color=" & Chr(34) & "#FFFFFF" & Chr(34) & ">(y)

&#1593; &#1585; &#1590; </ f ont ></ b></t d>"

Print #1, " <td bgcol or=" & Chr(34) & "#000080" & Chr(34) & " align=" & Chr(34)
& "center” & Chr(34) & "><b><font color=" & Chr(34) & "#FFFFFF" & Chr(34) & ">(z)

&#1575; &#1585; &#1578; &#1601; &#1575; &#1593;

&#1575; &#1608; &#1604; &#1610; &#1607; </ f ont ></ b></t d>"

Print #1, " <td bgcol or=" & Chr(34) & "#000080" & Chr(34) & " align=" & Chr(34)
& "center” & Chr(34) & "><b><font color=" & Chr(34) & "#FFFFFF" & Chr(34) & ">(z)

&#1575; &#1585; &#1578; &#1601; &#1575; &#1593; &#1576, &#1593; &#1583; &#1575; &#1586;



&#1578; &#1587; &#1591; &#1610; &#1581; &#1578; &#1589; &#1581; &#1610; &#1581;

&#1606; &#1588; &#1583; &#1607; </ f ont ></ b></ t d>"

Print #1, " <td bgcol or=" & Chr(34) & "#000080" & Chr(34) & " align=" & Chr(34)
& "center" & Chr(34) & "><b><font color=" & Chr(34) & "#FFFFFF" & Chr(34) & ">(d2)

&#1605; &#1602; &#1583; &#1575; &#1585; &#1608; &#1606; &#1608; &#1593;

&#1593; &#1605; &#1604; &#1610; &#1575; &#1578; &#1582; &#1575; &#1705; &#1740;

&#1602; &#1576; &#1604; &#1575; &#1586; &#1578; &#1589; &#1581; &#1610; &#1581; </ f ont ></ b></t d>"
Print #1, " <td bgcol or=" & Chr(34) & "#000080" & Chr(34) & " align=" & Chr(34)
& "center" & Chr(34) & "><b><font color=" & Chr(34) & "#FFFFFF" & Chr(34) & ">(d2)

&#1605; &#1602; &#1583; &#1575; &#1585; &#1608; &#1606; &#1608; &#1593;

&#1593; &#1605; &#1604; &#1610; &#1575; &#1578; &#1582; &#1575; &#1705; &#1740;

&#1576; &#1593; &#1583; &#1575; &#1586; &#1578; &#1589; &#1581; &#1610; &#1581; </ f ont ></ b></t d>"
Print #1, " <td bgcol or=" & Chr(34) & "#000080" & Chr(34) & " align=" & Chr(34)
& "center" & Chr(34) & "><b><font color=" & Chr(34) & "#FFFFFF" & Chr(34) & ">(z)

&#1575; &#1585; &#1578; &#1601; &#1575; &#1593; &#1606; &#1607; &#1575; &#1740; &#1740;

&#1578; &#1589; &#1581; &#1740; &#1581; &#1588; &#1583; &#1607; </ f ont ></ b></t d>"

Print #1, " </[tr>"

colorl = "#FOFOFF"

col or2 = "#FAF4FF"
For i = 1 To InputData.x0
For j = 1 To InputData.y0
I'f I'nputData.a(i, j) <> 0 Then
I color_flag = Fal se Then
color0 = colorl
color_flag = True
El se
color0 = color2
color_flag = Fal se
End |f
Print #1, " <tr>"
Print #1, " <td align=" & Chr(34) & "center" & Chr(34) & " bgcolor=" & Chr(34) &
color0 & Chr(34) & "><b>" & i & "</b></td>"
Print #1, " <td align=" & Chr(34) & "center" & Chr(34) & " bgcolor=" & Chr(34) &
color0 & Chr(34) & "><b>" & j & "</b></td>"
Print #1, " <td align=" & Chr(34) & "center" & Chr(34) & " bgcolor=" & Chr(34) &
color0 & Chr(34) & "><b>" & InputData.a(i, j) & "</ b></td>"
Print #1, " <td align=" & Chr(34) & "center" & Chr(34) & " bgcolor=" & Chr(34) &
color0 & Chr(34) & "><b>" & QutputData.b(i, j) & "</ b></td>"
Print #1, " <td align=" & Chr(34) & "center" & Chr(34) & " bgcolor=" & Chr(34) &
color0 & Chr(34) & "><b>" & QutputData.dZ string_first(i, j) & "</b></td>"
Print #1, " <td align=" & Chr(34) & "center" & Chr(34) & " bgcolor=" & Chr(34) &
color0 & Chr(34) & "><b>" & QutputData.dZ string_final (i, j) & "</b></td>"
Print #1, " <td align=" & Chr(34) & "center" & Chr(34) & " bgcolor=" & Chr(34) &
color0 & Chr(34) & "><b>" & QutputData.c(i, j) & "</b></td>"
Print #1, " </[tr>"
End |f
Next j
Next i
Print #1, " </t abl e>"
Print #1, " </td>"
Print #1, " </tr>"
Print #1, " <tr>"
Print #1, " <td>"
Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &

Chr (34) & " id=" & Chr(34) & "tablel0" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)
& " cellpadding=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <td>CUT (final)=<b>" & QutputData.CUT_final & "</b></td>"
Print #1, " <td>FILL (final)=<b>" & QutputData.FILL final & "</b></td>"
Print #1, " </[tr>"

Print #1, " </tabl e>"

Print #1, " </td>"

Print #1, " </tr>"

Print #1, " <tr>"

Print #1, " <td>"

Print #1, " <tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &
Chr(34) & " id=" & Chr(34) & "tablell" & Chr(34) & " cellspacing=" & Chr(34) & "0" & Chr(34)
& " cellpadding=" & Chr(34) & "0" & Chr(34) & ">"

Print #1, <tr>"

Print #1, " <td>Nc (final)=<b>" & QutputData.Nc_final & "</b></td>"

Print #1, " <td>Nf (final)=<b>" & QutputData.Nf_final & "</b></td>"

Print #1, " <td>No Cut/Fill (final)=<b>" & CQutputData. NOCF_final & "</b></td>"
Print #1, " </tr>"

Print #1, " </t abl e>"

Print #1, " </td>"

Print #1, " </tr>"

Print #1, " <tr>"

Print #1, " <td>R(final)=<b>" & QutputData.r_final & "</b></td>"
Print #1, " </tr>"

Print #1, " <tr>"



Print #1, "

Chr(34) & "><b>&#1578; &#1608; &#1580; &#1607; :

<td><p align=" & Chr(34) & "right" & Chr(34) & " dir=" & Chr(34) & "rtl" &

</ b>&#1608; &#1575; &#1581; &#1583,;

&#1605; &#1602; &#1575; &#1583; &#1740; &#1585; &#1582; &#1585; &#1608; &#1580; &#1740;
&#1576; &#1585; &#1575; &#1576; &#1585; &#1608; &#1575; &#1581,; &#1583,

&#1605; &#1602; &#1575; &#1583; &#1740; &#1585; &#1608; &#1585; &#1608; &#1583; &#1740;
&#1588; &#1605; &#1575; &#1605; &#1740; &#1576; &#1575; &#1588; &#1583; . </t d>"

Print #1, "
Print #1, "
Print #1, "
Print #1, "
Chr(34) &*"
& " cell padd
wan

Print #1, "
Print #1, "
Print #1, "
Print #1, "

Print #1, "

Print #1, "
Print #1, "
Print #1, "
Print #1, "

</tr>"
<tr>"
<td>"

<tabl e border=" & Chr(34) & "0" & Chr(34) & " width=" & Chr(34) & "100% &

id=" & Chr(34) & "tablel4" & Chr(34)
ing=" & Chr(34) & "0" & Chr(34) & "

<tr>"
<t d>"

& " cel | spacing=" & Chr(34) & "5" & Chr(34)

bgcol or=" & Chr(34) & "#000080" & Chr(34) &

<p align=" & Chr(34) & "center" & Chr(34) & ">"

<a target=" & Chr(34) & "_blank" & Chr(34) & " href=" & Chr(34) &"
http://ww. Tasti h.Nabi.ir/" & Chr(34) & ">"
<font color=" & Chr(34) & "#FFFFFF" & Chr(34) & ">
http://ww. Tasti h. Nabi.ir/</font></a></td>"

</tr>"
</t abl e>"
</td>"
</tr>"

Print #1, "</table>"

Print #1, ""

Print #1, "</body>"

Print #1, ""

Print #1, "</htm>"

Cl ose #1
End Sub

Property Cet
in_X0 =
End Property

Property Let
I nput Dat
End Property

Property Cet
in_Y0 =
End Property

Property Let
I nput Dat
End Property

Property Cet
in_dX =
End Property

Property Let
I nput Dat
End Property

Property Cet
in_dy =
End Property

Property Let
I nput Dat
End Property

Property Cet
in_R =1
End Property

Property Let
I nput Dat
End Property

Property Cet
in_Sx1 =
End Property

Property Let
I nput Dat
End Property

Property Cet

in_X0() As sSingle
I nput Dat a. x0

in_XO(tx0 As Single)
a.x0 = tx0

in_YO() As Single
I nput Dat a. y0

in_YO(ty0 As Single)
a.y0 = tyo0

in_dX() As Single
I nput Dat a. dX

in_dX(tdX As Single)
a.dX = tdX

in_dY() As Single
| nput Dat a. dY

in_dy(tdY As Single)
a.dy = tdy

in_R() As Single
nput Dat a. R

in_R(tR As Single)
a.R=1tR

in_Sx1() As Single
I nput Dat a. Sx1

in_Sx1(tSx1 As Single)
a.Sx1 = tSx1

in_Sx2() As Single



in_Sx2 = I nputData.Sx2
End Property

Property Let in_Sx2(tSx2 As Single)
I nput Dat a. Sx2 = t Sx2
End Property

Property Cet in_Syl() As Single
in_Syl = InputData. Syl
End Property

Property Let in_Syl(tSyl As Single)
I nput Data. Syl = tSyl
End Property

Property Cet in_Sy2() As Single
in_Sy2 = InputData.Sy2
End Property

Property Let in_Sy2(tSy2 As Single)
I nput Data. Sy2 = tSy2
End Property

Property Cet in_CheckShib() As Bool ean
i n_CheckShi b = I nput Dat a. CheckShi b
End Property

Property Let in_CheckShi b(tCheckShib As Bool ean)
I nput Dat a. CheckShi b = t CheckShi b
End Property

Property Cet in_XcManual () As Single
i n_XcManual = | nput Data. XcManual
End Property

Property Let in_XcManual (tXcManual As Single)
I nput Dat a. XcManual = t XcManual
End Property

Property Cet in_YcManual () As Single
i n_YcManual = | nputData. YcManual
End Property

Property Let in_YcManual (tYcManual As Single)
| nput Dat a. YcManual = tYcManual
End Property

Property Cet in_CheckCentroid() As Bool ean
i n_CheckCentroid = I nput Dat a. CheckCentroi d
End Property

Property Let in_CheckCentroid(tCheckCentroid As Bool ean)
I nput Dat a. CheckCentroid = t CheckCentroid
End Property

Public Property Cet in_a(ByVal Indexl As Integer, _
ByVal Index2 As Integer) As Single

I T Indexl <= UBound(lnputData.a, 1) And _
I ndex2 <= UBound(lnputData.a, 2) Then in_a = InputData.a(lndexl, |ndex2)

End Property
Public Property Let in_a(ByVal Indexl As Integer, _
ByVal Index2 As |nteger,
NewNunber As Single)
DimmArray() As Single
mArray = I nputData.a

I T Indexl > UBound(lnputData.a, 1) Then ReDi m I nputData.a(lndex1l, UBound(lnputData. a,

2))
I'f I'ndex2 > UBound(l nputData.a, 2) Then ReDi m I nputData.a(UBound(lnputbData.a, 1),
I ndex2)

For I'suml = LBound(mArray, 1) To UBound(mArray, 1)
For I'sun2 = LBound(mArray, 2) To UBound(mArray, 2)
I nput Data. a(l Suni, |SunmR) = mArray(l Sunil, | SunR)
Next | Sun
Next | Suml

I nput Dat a. a( 1 ndex1, |ndex2) = NewNumrber

End Property



Private Sub Class_Initialize()
ReDi m I nput Data. a(0, 0)
End Sub

Function out_Xc() As Single
out _Xc = Qut put Data. Xc
End Function

Function out_Yc() As Single
out _Yc = QutputData. Yc
End Function

Property Cet QutOFill(x As Long, y As Long) As Single
On Error Resune Next
CutOFill =dZ(x, y)

End Property

| ####HR AR Tastih Arazi v1.0 CLASS #########IH###HHH
| #####RARA# Programer . Nabi Karamal | zadeh #########
| ##HHHRAARAAE Dt tp )/ waww, Tast i h. Nabi . i1/ #####8#####H##
| #####RRR### Copyright 2007 All rights reserved. ####

"frmMain.frm” LG ol i

Private Declare Function GetCapture Lib "user32" () As Long

Private Declare Function SetCapture Lib "user32" (ByVal hwnd As Long) As Long

Private Declare Function Rel easeCapture Lib "user32" () As Long
Dimrs As ADOR Recordset

m First_Load As Bool ean
m First_Load2 As Bool ean

m StepH As Single
m StepW As Single
m BaseH As Single
m BaseW As Single

m bl As Bool ean
mpx As Single
m py As Single

m NodeX As Single
m NodeY As Single

m MaxW As Singl e
m MaxH As Single
m h() As Single

00 UO UDOO0 U000 DO

Function DaroonYabi (a As Single, b As Single, d As Single, x As Single) As Single

a : ertefa noghte shoro

"b : ertefa noghte payan

"d : fasele do noghte

"x : fasele noghte nmajhool

' DaroonYabi : ertefa noghte maj hool
DaroonYabi = (-x * (a- b) +d* a) / d
End Function

Private Sub MoveMouseCapture(ByVal x As Single, ByVal y As Single)
| T GetCapture() <> Earth.hwnd Then
I GetCapture() = Earth. hwnd Then Exit Sub
Set Capt ure Earth. hwnd
End If
[T x <0 O x > Earth.Wdith O y <0 O y > Earth.Hei ght Then
Rel easeCapt ur e
End If
End Sub

Sub Earth_Refresh(Optional Flag_CLS As Bool ean = True)
On Error Resume Next

Ve. MousePointer = 11

PBar 1. Visible = True

PBar 1. Val ue 0

PBar 1. M n
PBar 1. Vax

= o
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PBar 1. Vax = PBar 1. MVax + 3
PBar 1. Vax = PBar 1. Vax + ((Earth. Scal eHei ght - BaseH) \ StepH + 1)
PBar 1. Vax = PBar 1. Vax + ((Earth. Scal ewWdth - BaseW \ StepW+ 1)
PBar 1. Vax = PBarl.Vax + 2 * (((Earth.ScaleWdth - BaseW \ StepW+ 1) * ((Earth. Scal eHei ght
- BaseH) \ StepH + 1))
PBar 1. Vax = PBar 1. Vax + rs. RecordCount
Dimi As Long
If StepH = 0 Then StepH = 1
| StepW= 0 Then StepW =
If Flag_CLS = True Then Earth.C's
PBar 1. Val ue = PBarl.Value + 1
' Hori zon
For i = BaseH To Earth. Scal eHei ght Step StepH
Earth.Line (0, i)-(Earth.Scal ewWdth, i)
PBar 1. Val ue = PBarl.Value + 1
Next i
"Vertical
For i = BaseWTo Earth. Scal eWdth Step StepW
Earth.Line (i, 0)-(i, Earth. Scal eHei ght)
PBar 1. Val ue = PBarl.Value + 1
Next i
For i = BaseWTo Earth. Wdith Step StepW
For j = BaseH To Earth. Height Step StepH
Earth.Draww dth = 1
Earth.PSet (i, j)
Earth.Circle (i, j), 4
If Flag_CLS = True Then
Earth.Print " (" & (i - BaseW / StepW+ 1 & "," & (j - BaseH) / StepH + 1 & ")"
End |f
Eart h. Drawvbde = 13
MaxW = (i - BaseW / StepW+ 1
MaxH = (j - BaseH) / StepH + 1
PBar 1. Val ue = PBarl.Value + 1
Next j
Next i
Call H_Refresh
PBar 1. Val ue = PBarl.Value + 1
rs. MoveFi r st
Whil e Not rs. EOF
rs.Delete
rs. MoveNext
PBar 1. Val ue = PBarl.Value + 1
Wend
PBar 1. Val ue = PBarl.Value + 1
For i = BaseWTo Earth. Scal ewWdth Step StepW

For j BaseH To Earth.
rs. AddNew
rs. Fields(0). Val ue
rs. Fields(1). Val ue (i -
rs. Fields(2). Val ue h(rs. Fields(0). Val ue,
PBar 1. Val ue PBar1. Value + 1
Next j
Next i
rs. MoveFi r st

Scal eHei ght Step StepH

(i -

Scrol | BaseH. Vax = Earth. Scal eHei ght - StepH
Scrol | StepH. Vax = Earth. Scal eHei ght - BaseH
Scrol | BaseW Vax = Earth. Scal eWdth - StepW
Scrol | StepW Vax = Earth. Scal eWdth - BaseW

PBar 1. Val ue
PBar 1. Vi sibl e
Ve. MobusePoi nt er
End Sub

PBar1. Val ue + 1
= Fal se
=1

Function Scroll_Refresh()
Scrol | WWdt h 20
Scrol | H. Hei ght 20

Scrol IWTop = 0

Scrol | WlLeft = Back.Scal eWdth - Scrol | WWdth

BaseW / StepW+ 1
BaseH) / StepH + 1

rs.Fields(1).Val ue)




R RS T |

Scrol | W Hei ght = Back. Scal eHei ght - Scrol | H. Hei ght

Scrol | H Top = Back. Scal eHei ght - Scrol | H. Hei ght
ScrollH Left =0
Scrol I H W dth = Back. Scal eWdth - Scrol | WW dth

pi cTenp. Wdth = Scrol |WWdth

pi cTenp. Hei ght = Scrol |l H Hei ght

pi cTenp. Left = Back. Scal eWdth - picTenp. Wdth
pi cTenp. Top = Back. Scal eHei ght - pi cTenp. Hei ght

Scrol Il WVal ue = 0
| T Earth. Height > Back.Height - ScrollH Hei ght Then
Scrol | WEnabl ed = True
ScrolIWMn =0
Scrol | WiVax = Earth. Hei ght - Back.Hei ght + Scroll H Hei ght
El se
Scrol | WEnabl ed = Fal se
End |f
Scrol I H. Value = 0
I T Earth. Wdth > Back. Wdth - Scrol |l WWdth Then
Scrol | H. Enabl ed = True
ScrollH. Mn =0
Scrol | H Vax = Earth. Wdth - Back. Wdth + Scrol l WW dt h
If PicBold = False Then ScrollH Smal |l Change = 8 * 15 Else |f PicBold = True Then
Scrol | H Snal | Change = 9 * 15
El se
Scrol I H. Enabl ed = Fal se
End |f
End Function

Private Sub chkCentroid_Click()
I ¥ chkCentroid.Value = 1 Then
t xt XcManual . Enabl ed Fal se: txt XcManual . BackCol or
t xt YcManual . Enabl ed Fal se: txtYcManual . BackCol or
El se
t xt XcManual . Enabl ed
t xt YcManual . Enabl ed
End |f
End Sub

RGB(236, 233, 216)
RGB(236, 233, 216)

True: txtXcManual . BackCol or
True: txtYcManual . BackCol or

RGB(255, 255, 255)
RGB(255, 255, 255)

Private Sub chkColor_Qick(lndex As |nteger)
| T chkCol or (I ndex).Value = 1 Then

t xt Col or (I ndex) . Enabl ed = True
cndCol or (I ndex) . Visible = True
El se
t xt Col or (I ndex) . Enabl ed = Fal se
cndCol or (I ndex) . Visible = Fal se
End If
End Sub

Private Sub chkShib_Click()

| T chkShi b. Val ue = Then
t xt Sx1. Enabl ed True: txtSx1.BackCol or
t xt Sx2. Enabl ed True: txtSx2.BackCol or
t xt Sy1. Enabl ed True: txtSyl.BackCol or
t xt Sy2. Enabl ed True: txtSy2.BackCol or

El se
t xt Sx1. Enabl ed
t xt Sx2. Enabl ed
t xt Sy1. Enabl ed
t xt Sy2. Enabl ed

End |f

End Sub

RGB(255, 255, 255)
RGB( 255, 255, 255)
RGB( 255, 255, 255)
RGB( 255, 255, 255)

o n =l

Fal se: txt Sx1. BackCol or
Fal se: txt Sx2. BackCol or
Fal se: txtSyl. BackCol or
Fal se: txt Sy2. BackCol or

RGB(236, 233, 216)
RGB(236, 233, 216)
RGB(236, 233, 216)
RGB(236, 233, 216)

Private Sub cnmdCol or _Qick(lndex As |nteger)
On Error CoTo errlabel
dl gCol or. Cancel Error = True
dl gCol or . ShowCol or
cndCol or (I ndex) . BackCol or = dl gCol or. Col or
cndCol or (I ndex) . Caption = "#" & Taghi rMabna(dl gCol or. Col or)
Exit Sub
errl abel :
End Sub

Private Sub cmdTasti hvap_C i ck()

Dimxx1l As Single, yyl As Single, hl As Single, h2 As Single

Dim XL As Long, Y1 As Long, X2 As Long, Y2 As Long, X3 As Long, Y3 As Long, X4 As Long, Y4
As Long, i As Long, j As Long

Di m ok As Bool ean
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Ve. MobusePoi nter = 11

Dim Cal As clsTastih
Set Cal = New clsTastih

Cal .in_X0 = MaxW

Cal .in_Y0O = MaxH

Cal .in_dX = StepW

Cal .in_dY = StepH

Cal .in_R = Val (txtR Text)

Cal .in_Sx1 = Val (txtSx1l. Text)

Cal .in_Sx2 = Val (txtSx2. Text)

Cal .in_Syl = Val (txtSyl. Text)

Cal .in_Sy2 = Val (txtSy2. Text)

Cal . i n_CheckShi b = chkShi b. Val ue

Cal . i n_XcManual = Val (txtXcManual . Text)
Cal .in_YcManual = Val (txtYcManual . Text)
Cal . i n_CheckCentroid = chkCentroid. Val ue

rs. MoveFi rst
Whi |l e Not rs. EOF

I Val (rs.Fields(2).Value) <> 0 Then ok = True

Cal .in_a(rs.Fields(0).Value, rs.Fields(1).Value) = Val (rs.Fields(2).Value)

rs. MoveNext
Wend
I'f ok = Fal se Then MsgBox "glas,l &oaxan 1 bLis Ty oyly 00,85 aul”, vblnformation,
"Warning": rs.MveFirst: tabOption. Tabs(2). Selected = True: Me.MusePointer = 0: Exit Sub
Cal . Run

PBar 1. Visible = True
Earth.Cl s
Call H_Refresh

For i = BaseWTo (MaxW- 1) * StepW+ BaseW- 1
For j = BaseH To (MaxH - 1) * StepH + BaseH - 1

XL = ((((i - BaseW \ StepW * StepW + BaseW - BaseW / StepW+ 1
YL = ((((j - BaseH) \ StepH) * StepH + BaseH) - BaseH) / StepH + 1

X2 = ((((i - BaseW \ StepW * StepW + BaseW + StepW - BaseW / StepW+ 1
Y2 = ((((j - BaseH) \ StepH) * StepH + BaseH) - BaseH) / StepH + 1

X3 = ((((i - BaseW \ StepW * StepW+ BaseW - BaseW / StepW+ 1

Y3 = ((((j - BaseH) \ StepH) * StepH + BaseH + StepH) - BaseH) / StepH + 1
X4 = ((((i - BaseW \ StepW * StepW+ BaseW+ StepW - BaseW / StepW+ 1
Y4 = ((((j - BaseH) \ StepH) * StepH + BaseH + StepH) - BaseH) / StepH + 1
xx1 =i ((X1 - 1) * StepW+ BaseW

yyl =j - ((Y1 - 1) * StepH + BaseH)

If h(XL, Y1) <> 0 And h(X2, Y2) <> 0 And h(X3, Y3) <> 0 And h(X4, Y4) <> 0 Then

hl = DaroonYabi (Cal . CutOrFi Il (X1, Y1), Cal.CutOFill(X3, Y3), StepH, yyl)
h2 = DaroonYabi (Cal . Cut OrFi I | (X2, Y2), Cal.CutOFill(X4, Y4), StepH, yyl)
h3 = DaroonYabi (hl, h2, StepW xx1)
If h3 > 0 Then Earth.PSet (i, j), RGB(255, 0, 0)
If h3 < 0 Then Earth.PSet (i, j), RGB(0, 0, 255)
I'f h3 = 0 Then Earth.PSet (i, j), RG3(0, 0, 0)
End |f
Next j
Next i
For i =1 To MaxW
For j =1 To MaxH
Eart h. Drawvbde = 3
Earth.PSet ((i - 1) * StepW+ BaseW (j - 1) * StepH + BaseH)
Eart h. Drawvbde = 13
Eart h. ForeCol or = RG3(0, 0, 0)
I'f h(i, j) <> 0 Then
If Cal.CutOrFill(i, j) >0 Then Earth.Print Abs(Cal.CutOFill(i, j)) &" C"
If Cal.CutOrFill(i, j) <0 Then Earth.Print Abs(Cal.CutOFill(i, j)) &" F"
If Cal.CutOrFill(i, j) =0 Then Earth.Print "0"
End |f
Next j
Next i

Cal | Earth_Refresh(Fal se)
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PBar 1. Visible = Fal se
Ve. MousePointer = 0

End Sub

Private Sub cmdTopo_C i ck()
Dim xx1 As Single, yyl As Single, hl As Single, h2 As Single

Ve. MobusePoi nter = 11
rs. MoveFi rst

Whil e Not rs. EOF
I Val (rs.Fields(2).Value) <> 0 Then CoTo exitlabe

rs. MoveNext
Wend
MEgBOX "¢ lis, ! azan 31 bLis 1, oyl 00,85 anl™, vbinformation, "Warning": rs. MoveFirst:
tabOpti on. Tabs(2).Sel ected = True: Me.MousePointer = 0: Exit Sub
exitlabel:

PBarl.Visible = True
Earth.Cl s
Call H_Refresh

Di-m Col or H( 10)
Dim Col or C( 10)

p=20
For i =0 To 8
I T chkColor(i).Value = 1 Then
p=p+1
Col orH(p) = Val (txtColor(i).Text)
Col orC(p) = cndCol or (i).BackCol or
End |f
Next i
For i =1 Top- 1
For j =1 + 1 Top
I T ColorH(i) > ColorH(j) Then
tenp = ColorH(i): ColorH(i) = ColorH(j): ColorH(j) = tenp
tenp = ColorC(i): ColorC(i) = ColorC(j): ColorC(j) = tenp
End |f
Next j
Next i
For i = BaseWTo (MaxW- 1) * StepW+ BaseW- 1

For j = BaseH To (MaxH - 1) * StepH + BaseH - 1

XL = ((((i - BaseW \ StepW * StepW + BaseW - BaseW / StepW+ 1
YL = ((((j - BaseH) \ StepH) * StepH + BaseH) - BaseH) / StepH + 1

X2 = ((((i - BaseW \ StepW * StepW + BaseW + StepW - BaseW / StepW+ 1
Y2 = ((((j - BaseH) \ StepH) * StepH + BaseH) - BaseH) / StepH + 1

X3 = ((((i - BaseW \ StepW * StepW + BaseW - BaseW / StepW+ 1

Y3 = ((((j - BaseH) \ StepH) * StepH + BaseH + StepH) - BaseH) / StepH + 1
X4 = ((((i - BaseW \ StepW * StepW + BaseW + StepW - BaseW / StepW+ 1
Y4 = ((((j - BaseH) \ StepH) * StepH + BaseH + StepH) - BaseH) / StepH + 1
xx1 =i - ((X1 - 1) * StepW+ BaseW

yyl =j - ((Y1 - 1) * StepH + BaseH)

If h(XL, Y1) <> 0 And h(X2, Y2) <> 0 And h(X3, Y3) <> 0 And h(X4, Y4) <> 0 Then

hl = DaroonYabi (h(X1, Y1), h(X3, Y3), StepH, yyl)
h2 = DaroonYabi (h(X2, Y2), h(X4, Y4), StepH, yyl)
h3 = DaroonYabi (hl, h2, StepW xx1)

For k =1 To p
IT h3 < ColorH k) Then Earth.PSet (i, j), ColorC(k): GoTo breakl abel
Next k
Earth.PSet (i, j), RGB(255, 255, 255)
br eakl abel :

End |f

Next j
Next i



For i =1 To MaxW
For j =1 To MaxH
Eart h. Drawvbde = 3
Earth.PSet ((i - 1) * StepW+ BaseW (j - 1) * StepH + BaseH)
Eart h. Drawvbde = 13
I'f h(i, j) <> 0 Then
Earth.Print h(i, j)
End |f
Next j
Next i

Cal | Earth_Refresh(Fal se)

PBar 1. Vi sible = Fal se
Ve. MousePointer = 0

End Sub

Private Sub Commandl_d i ck()
chksShi b. Value = 0
End Sub

Private Sub cmdCal _Click()
Di m ok As Bool ean
Ve. MousePointer = 11

Dim Cal As clsTastih
Set Cal = New clsTastih

Cal .in_X0 = MaxW

Cal .in_Y0O = MaxH

Cal .in_dX = StepW

Cal .in_dY = StepH

Cal.in_R = Val (txtR Text)

Cal .in_Sx1 = Val (txtSx1l. Text)

Cal .in_Sx2 = Val (txtSx2. Text)

Cal .in_Syl = Val (txtSyl. Text)

Cal .in_Sy2 = Val (txtSy2. Text)

Cal . i n_CheckShi b = chkShi b. val ue

Cal . i n_XcManual = Val (txtXcManual . Text)
Cal . in_YcManual = Val (txtYcManual . Text)
Cal . i n_CheckCentroid = chkCentroid. Val ue

rs. MoveFi rst
VWi le Not rs. EOF
If Val(rs.Fields(2).Value) <> 0 Then ok = True
Cal .in_a(rs.Fields(0).Value, rs.Fields(1).Value) = Val (rs.Fields(2).Value)
rs. MoveNext
Wend
I'f ok = False Then MsgBox "glis,l Suzas j1 blis 1y s,y 00,85 i, vblnformation,
"Warning": rs.MveFirst: tabOption. Tabs(2). Selected = True: Me.MusePointer = 0: Exit Sub

Cal . Run
Cal . Creat eFi |l e (FILE_REPORT_TEMP)

frnRepVi ew. WebBr owser 1. Navi gat e ( FI LE_REPORT_TEMP)
frmRepVi ew. Show 1

Ve. MousePointer = 0

End Sub

Private Sub Earth_MouseDown(Button As Integer, Shift As Integer, x As Single, y As Single)
I T NodeX > 0 And NodeY > 0 Then
rs. MoveFi rst
VWil e Not rs. EOF
I T NodeX = rs.Fields(0).Value And NodeY = rs.Fields(1l).Value Then GoTo IblExit
rs. MoveNext
Wend
I bl Exit:
tabOpti on. Tabs(2). Sel ected = True
Dat aGri d1. Set Focus
Exit Sub
End |f

Eart h. MousePoi nter = 99
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Eart h. Mousel con = i ngHandGet 2. Pi cture

px = X
py =Yy
bl = True
End Sub

Private Sub Earth_MouseMwve(Button As Integer, Shift As Integer, x As Single, y As Single)

If bl = True Then
Eart h. MousePointer = 99
Eart h. Mousel con = i ngHandGet 2. Pi cture
I T Earth. Wdth > Back. Wdth - Scrol |l WWdth Then
If px > x Then
Earth.lLeft = Earth.Left - Abs(px - X)
If Earth.lLeft < Back.Wdth - Earth.Wdth - ScrollWWdth Then Earth.lLeft =
Back. Wdth - Earth.Wdth - Scrol ITWWdth: px = x
Scrol I H. Value = -Earth. Left
End |f
If px < x Then
Earth.lLeft = Earth.Left + Abs(px - X)
If Earth.Left > 0 Then Earth.lLeft = 0: px = x
Scrol I H. Value = -Earth. Left
End |f
End |f
| T Earth. Height > Back.Height - ScrollH Hei ght Then
If py <y Then
Earth. Top = Earth. Top + Abs(py - vy)
If Earth.Top > 0 Then Earth.Top = 0: py =y
Scrol Il WVal ue = -Earth. Top
End |f
If py >y Then
Earth. Top = Earth. Top - Abs(py - vy)
| T Earth. Top < Back. Hei ght - Earth.Height - ScrollH Height Then Earth. Top =
Back. Hei ght - Earth. Height - Scroll H Height: py =y
Scrol Il WVal ue = -Earth. Top

End |f
End |f
Exit Sub
End |f

Node. Vi si bl e = Fal se
StatusBarl. Panels.lten(1).Text = ""

Eart h. MousePoi nter = 99
Eart h. Mbusel con = i ngHandGet 1. Pi cture

NodeX
NodeY

0
0

Cal | MoveMuseCapture(x, Yy)

X_Nnow = X
y_now =y

X1 = ((x - BaseW \ StepW * StepW+ BaseW

Y1l = ((y - BaseH) \ StepH) * StepH + BaseH

X2 = ((x - BaseW \ StepW * StepW+ BaseW+ StepW

Y2 = ((y - BaseH) \ StepH) * StepH + BaseH

X3 = ((x - BaseW \ StepW * StepW+ BaseW

Y3 = ((y - BaseH) \ StepH) * StepH + BaseH + StepH

X4 = ((x - BaseW \ StepW * StepW+ BaseW+ StepW

Y4 = ((y - BaseH) \ StepH) * StepH + BaseH + StepH

dl = Sgr((x_now - X1) ™~ 2 + (y_now - Y1) "~ 2)

d2 = Sgr((x_now - X2) N 2 + (y_now - Y2) ~ 2)

d3 = Sgr((x_now - X3) N 2 + (y_now - Y3) " 2)

d4 = Sgr((x_now - X4) N 2 + (y_now - Y4) N 2)

If dl >= 0 Then d_ok = d1: node_x_on = X1: node_y_on = Y1

I T d2 < d_ok Then d_ok = d2: node_x_on = X2: node_y_on = Y2
I T d3 < d_ok Then d_ok = d3: node_x_on = X3: node_y_on = Y3
I T d4 < d_ok Then d_ok = d4: node_x_on = X4: node_y_on = Y4

I T (node_x_on - BaseW / StepW+ 1 > 0 And (node_y_on - BaseH) / StepH + 1 > 0 And d_ok <=5
Then

Node. Left = node_x_on - 5

Node. Top = node_y_on - 5
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Node. Vi sible = True
NodeX = (node_x_on - BaseW / StepW+ 1
NodeY = (node_y_on - BaseH) / StepH + 1
StatusBar 1. Panels.Iten(1).Text = "(" & NodeX & "," & NodeY & ")"
Eart h. MousePointer = 99
Eart h. Mousel con = i ngHandl. Pi cture
End |f

End Sub

Private Sub Earth_MouseUp(Button As [nteger, Shift As Integer, x As Single, y As Single)
Eart h. Mbusel con = i ngHandl. Pi cture

bl = Fal se

End Sub

Private Sub Form Activate()
I'f First_Load2 = Fal se Then

tabOpti on. Tabs(4). Sel ected = True
tabOpti on. Tabs(3). Sel ected = True
tabOpti on. Tabs(2). Sel ected = True
tabOpti on. Tabs(1). Sel ected = True

chkShi b. value = 1
chkShi b. val ue = 0
chkCentroid. Val ue
chkCentroid. Val ue
First_Load2 = True

= O

End |f

End Sub

Private Sub Form Load()
BaseEl = 700

StepEl = 450

App. Hel pFile = App.path & "\" & "Tastih_Manual . pdf"

For i =0 To 8

I'bl Color(i).Top = BaseEl + i * StepEl

I bl Color(i).Caption =i + 1 &")"

chkColor(i). Top = BaseEl + i * StepEl - 50

txtColor(i).Top = BaseEl + i * StepEl

cnmdColor (i). Top = BaseEl + i * StepEl

cmdCol or (i). Caption = "#" & Taghi r Mabna(cndCol or (i) . BackCol or)
Next i

First_Load = True

i mgHand1. Vi si bl e = Fal se
i mgHandGet 1. Vi si bl e = Fal se
i mgHandGet 2. Vi si bl e = Fal se

chkShi b. Value = 0
chkCentroid. Val ue =

=

Eart h. MousePoi nter = 99
Eart h. Mousel con = i ngHandGet 1. Pi cture

StepH = 50
StepW = 50
BaseH = 25
BaseW = 25

Me.Wdth = 11385
Me. Hei ght = 7300

Earth. Wdth = 400
Earth. Hei ght = 350

txtEarthwW= Earth. Wdth
txt Eart hH = Earth. Hei ght

Scroll StepH. Mn = 1

Scrol | StepH. Vax = Earth. Scal eHei ght
Scrol | St epH. Val ue = StepH

t xt St epH. Text = StepH

Scrol Il StepW M n = 1
Scrol | StepW Vax = Earth. Scal eW dt h
Scrol | St epW Val ue = StepW

t xt St epW Text = StepW

Scrol | BaseH. Mn = 0
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Scrol | BaseH. Vax = Earth. Scal eHei ght
Scrol | BaseH. Val ue = BaseH
t xt BaseH. Text = BaseH

Scrol | BaseW M n 0

Scrol | BaseW Vax Earth. Scal eWdt h
Scrol | BaseW Val ue = BaseW

t xt BaseW Text = BaseW

Node. Vi si bl e = Fal se

FI LE_REPORT_TEMP = TenpPatch() & "tenp-report.tas”

Set rs = New ADOR. Recor dset

rs. Fields. Append "X", adVar Char, 50

rs. Fields.Append "Y", adVarChar, 50

rs. Fields. Append "H', adVar Char, 50

rs. Cursor Type = adOpenDynani c

rs. Open

Dat aGri d1. Def Col W dt h 800

Dat aGri d1. Ri ght ToLeft Fal se

Set DataGridl.DataSource = rs

Dat aGri d1. Splits(0).Colums(0).Locked = True
Dat aGri dl1. Splits(0).Colums(1).Locked = True
Dat aGri dl1. Splits(0).Colums(2). Nunber Format = "#. ##"

Call scroll_Refresh

Cal | Earth_Refresh

First_Load = Fal se

End Sub

Private Sub Form Resize()

If Me.WndowState = 1 Then Exit Sub

I f Me.Scal eHei ght < 433 Then Me. Hei ght = 7300: Exit Sub

If Me.ScaleWdth < 438 Then Me. Wdth = 6690: Exit Sub
tabOption.Left = frmvain. Scal eWdth - tabOoption. Wdth - 20
Back. W dth = frmvain. Scal eWdth - tabOption. Wdith - 40 - Back. Left

Back. Hei ght = frmVai n. Scal eHei ght - 60
tabOpti on. Hei ght = Back. Hei ght - 18

Line5. X1 = Me. ScaleWdth - 340 + 15
Line6. X1 = Me. ScaleWdth - 340 + 15
Line5. X2 = Me. ScaleWdth - 332 + 15
Line6. X2 = Me. ScaleWdth - 332 + 15
Linel. X2 = Me. ScaleWdth - 332 + 15
Label 1. Left = Me, Scal eWdth - 325 + 15
Li ne4. Y1l = Me. Scal eHei ght - 58
Li ne3. Y1l = Me. Scal eHei ght - 58
Li ne4.Y2 = Me. Scal eHei ght - 50
Li ne3. Y2 = Me. Scal eHei ght - 50
Li ne2.Y2 = Me. Scal eHei ght - 50
Label 2. Top = Me. Scal eHei ght - 48
For i =0 To 3

frnOption(i).lLeft = tabOption.Left + 12

).
frnOption(i).Top = tabOption. Top + 30
frnOption(i). Wdth = tabOption. Wdth - 24
frnOption(i).Height = tabOption. Hei ght - 45

Next i

cmdTopo. Left = tabOption. Left
cndTasti hMap. Left = tabOption.Left + 88
cndCal . Left = tabOption. Left + 88 + 88

Dat aGri d1. Hei ght = Me. Hei ght - 3250

PBarl.left = (Back. Wdth - PBarl. Wdth) / 2
PBar 2. left = (Back. Wdth - PBar2. Wdth) / 2
PBar 1. Top = (Back. Hei ght - PBarl.Height) / 2 - (PBarl.Height / 2)
PBar 2. Top = (Back. Hei ght - PBar2.Height) / 2 + (PBar2.Height / 2)

Call scroll_Refresh
End Sub



Private Sub Form Unl oad(Cancel As |nteger)
Dimresult As String
result = MsgBox(" LoT 31 4wlosn zyls - Saea”, vbYesNo + vbExclamation +
vbDef aul t Button2, "z5,5...")
I'f result = vbYes Then
End
El se
Cancel = -1
End |f
End Sub

Private Sub mmuAbout _d i ck()
fr mbout . Show 1

End Sub

Private Sub mmuAddMap_Cli ck()

On Error CoTo errlable

dl gOpenSave. Cancel Error = True

dl gOpenSave. Filter = "Bitnmap Files (*.BWP)|*. BWP"
dl gOpenSave. Fl ags = 2

dl gOpenSave. Fil eNane = "tastih_export"

dl gOpenSave. ShowSave

SavePicture Earth.lnage, dl gOpenSave. Fi | eNane

Exit Sub
errlabl e:
If Err.Nunber = 3021 Then Resune Next
If Err <> 32755 Then
MsgBox "Error to save file !", vbOritical, "Error"
End |f

End Sub

Private Sub mmuAddPi c_Click()

On Error CoTo errlable

dl gOpenPi c. Cancel Error = True

dl gOpenPic.Filter = "Bitmap Files (*.bnp)|*.bnp|Gf Files (*.gif)|(*.gif)|Jpeg Files
(*.ipg)| (*.jpg) | All Files (*.*)|*.*"

dl gOpenPi c. Flags = 2

dl gOpenPi c. ShowOpen

Earth. Picture = LoadPi cture(dl gOpenPi c. Fi | eNane)

Call scroll_Refresh

Cal | Earth_Refresh

txt Eart hW Text = Earth. Wdth
txt Eart hH. Text = Earth. Hei ght
Exit Sub
errlabl e:

If Err.Nunber = 3021 Then Resune Next
If Err <> 32755 Then

MsgBox "Error to save file !"™, vbOritical, "Error"
End |f

End Sub

Private Sub mmuAllVCutfill_Cick()

Dimxx1l As Single, yyl As Single, hl As Single, h2 As Single

Dim XL As Long, Y1 As Long, X2 As Long, Y2 As Long, X3 As Long, Y3 As Long, X4 As Long, Y4
As Long, i As Long, j As Long

Me. MousePoi nter = 11

Dim Cal As clsTastih
Set Cal = New clsTastih

Cal .in_X0 = MaxW

Cal .in_Y0O = MaxH

Cal .in_dX = StepW

Cal .in_dY = StepH

Cal.in_R = Val (txtR Text)

Cal .in_Sx1 = Val (txtSx1l. Text)

Cal .in_Sx2 = Val (txtSx2. Text)

Cal .in_Syl = Val (txtSyl. Text)

Cal .in_Sy2 = Val (txtSy2. Text)

Cal . i n_CheckShi b = chkShi b. val ue

Cal . i n_XcManual = Val (txtXcManual . Text)

Cal . in_YcManual = Val (txtYcManual . Text)
i

Cal . i n_CheckCentroid = chkCentroid. Val ue
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rs. MoveFi r st

Whil e Not rs. EOF
Cal .in_a(rs.Fields(0).Value, rs.Fields(1).Value) = Val (rs.Fields(2).Value)
rs. MoveNext

Wend

Cal . Run

Call H_Refresh

For i = BaseWTo (MaxW- 1) * StepW+ BaseW- 1
For j = BaseH To (MaxH - 1) * StepH + BaseH - 1

X1 = ((((i - BaseW \ StepW * StepW+ BaseW - BaseW / StepW+ 1

Y1 = ((((j - BaseH) \ StepH) * StepH + BaseH) - BaseH) / StepH + 1

X2 = ((((i - BaseW \ StepW * StepW + BaseW+ StepW - BaseW / StepW+ 1
Y2 = ((((j - BaseH) \ StepH) * StepH + BaseH) - BaseH) / StepH + 1

X3 = ((((i - BaseW \ StepW * StepW + BaseW - BaseW / StepW+ 1

Y3 = ((((j - BaseH) \ StepH) * StepH + BaseH + StepH) - BaseH) / StepH + 1
X4 = ((((i - BaseW \ StepW * StepW + BaseW + StepW - BaseW / StepW+ 1
Y4 = ((((j - BaseH) \ StepH) * StepH + BaseH + StepH) - BaseH) / StepH + 1
xx1l =i ((X1 - 1) * StepW+ BaseW

yyl =j - ((Y1 - 1) * StepH + BaseH)

If h(XL, Y1) <> 0 And h(X2, Y2) <> 0 And h(X3, Y3) <> 0 And h(X4, Y4) <> 0 Then

hl = DaroonYabi (Cal . Cut OrFi || (X1, Y1), Cal.CutOFill (X3, Y3), StepH, yyl)
h2 = DaroonYabi (Cal . Cut OrFi || (X2, Y2), Cal.CutOFill (X4, Y4), StepH, yyl)
h3 = DaroonYabi (hl, h2, StepW xx1)
If h3 >0 Then VC = VC + h3
If h3 < 0 Then VF = VF + h3
End |f
Next j

Next i

frmAl I VCutFill.txtAll VCut. Text = Format (Abs(VQ), "#. ##")
frmAlTVCutFill. txtAllVFill. Text = Format (Abs(VF), "#. ##")
frmAl I VCut Fil | . Show 1

Me. MousePointer = 0

End Sub

Private Sub mmuCal _Cick()
Cal | cndCal _Cick

End Sub
Private Sub mmuCentroid_Click()

Dim Cal As clsTastih
Set Cal = New clsTastih

Cal .in_X0 = MaxW

Cal .in_Y0O = MaxH

Cal .in_dX = StepW

Cal .in_dY = StepH

Cal .in_R = Val (txtR Text)

Cal .in_Sx1 = Val (txtSx1. Text)

Cal .in_Sx2 = Val (txtSx2. Text)

Cal .in_Syl = Val (txtSyl. Text)

Cal .in_Sy2 = Val (txtSy2. Text)

Cal . i n_CheckShi b = chkShi b. Val ue

Cal . i n_XcManual = Val (txtXcManual . Text)
Cal .in_YcManual = Val (txtYcManual . Text)
Cal . i n_CheckCentroid = chkCentroid. Val ue

rs. MoveFi r st

Whil e Not rs. EOF
Cal .in_a(rs.Fields(0).Value, rs.Fields(1).Value) = Val (rs.Fields(2).Value)
rs. MoveNext

Wend

Cal . Run
t enp_For eCol or
tenp_Draww dt h

Eart h. ForeCol or
Eart h. Dr aww dt h



Eart h. For eCol or
Eart h. Dr aww dt h

RGB(0, 0, 0)
9

Earth. PSet (Cal.out_Xc - Val (txtStepW Text) + Val (txtBaseW Text), Cal.out_Yc -

Val (txt StepH. Text) + Val (txtBaseH. Text))

Earth.Print "Centroid (" & Cal.out_Xc & " , " & Cal.out_Yc & " )"
Eart h. ForeCol or = RGB(255, 0, 0)

Earth.Draww dth = 5

Earth. PSet (Cal.out_Xc - Val (txtStepW Text) + Val (txtBaseW Text), Cal.out_Yc -

Val (txt StepH. Text) + Val (txtBaseH. Text))
Earth.Print "Centroid (" & Cal.out_Xc & " , " & Cal.out_Yc & " )"

Eart h. For eCol or
Eart h. Dr aww dt h
End Sub

t enp_For eCol or
tenp_DrawW dt h

Private Sub mmuCol ors_Cli ck()
tabOpti on. Tabs(4).Sel ected = True

End Sub

Private Sub mmubDel Pi c_Click()
Dimresult As String

result = MsgBox(" LoT glscaeb! 4o Gi> yuga3 Saoyls", vbYesNo + vbExcl amation +

vbDef aul t Button2, "&i> ,osa3")
I'f result = vbYes Then
Earth. Picture = LoadPicture()
Cal'l Scroll _Refresh
Cal | Earth_Refresh
End |f
End Sub

Private Sub mmuEl _Cick()
tabOption. Tabs(2).Sel ected = True

End Sub

Private Sub mmuExit_Click()
Dimresult As String

result = MsgBox(" LoT 31 4wlosn zyls - Sasea”, vbYesNo + vbExclamation +

vbDef aul t Button2, "z, ...
If result = vbYes Then
End
End |f
End Sub

)

Private Sub mmuHel pPrg_Click()

Shel | "explorer.exe " & App.path & "\" & "Tasti h_Manual . pdf", vbMaxi nm zedFocus

End Sub

Private Sub mmuMesh_Cli ck()
tabOption. Tabs(1).Selected = True

End Sub

Private Sub mmuNew_Click()

Dimresult As String

result = MsgBox(" Lo Hlo oS odbgsn cdod> odbgyy dxd 31 (o dal g3 ady.
0305 oy Jdou> Sauylo", vbYesNo + vbExclamation + vbDefaul t Button2,
If result = vbNo Then Exit Sub

First_Load = True

StepH = 50
StepW= 50
BaseH = 25
BaseW = 25

Earth.wWdih = 400
Earth. Hei ght = 350

txtEarthwW= Earth. Wdth
txt Eart hH = Earth. Hei ght

Scrol | StepH. M n 1

Scrol | St epH. Vax Earth. Scal eHei ght
Scrol | St epH. Val ue = StepH

t xt St epH. Text = StepH

Scrol | StepW M n 1
Scrol | St epW MVax Earth. Scal eWdt h
Scrol | St epW Val ue = StepW

LT gliaeb! o Lo

"oy L")
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t xt St epW Text = StepW

Scrol | BaseH. M n 0

Scrol | BaseH. Vax Earth. Scal eHei ght
Scrol | BaseH. Val ue = BaseH

t xt BaseH. Text = BaseH

Scrol | BaseW M n = 0

Scrol | BaseW Vax = Earth. Scal eW dt h
Scrol | BaseW Val ue = BaseW

t xt BaseW Text = BaseW

Node. Vi si bl e = Fal se

Set rs = New ADOR. Recor dset

rs. Fields. Append "X", adVar Char, 50

rs. Fields.Append "Y", adVarChar, 50

rs. Fields. Append "H', adVar Char, 50

rs. Cursor Type = adOpenDynani c

rs. Open

Dat aGri d1. Def Col W dt h 800

Dat aGri d1. Ri ght ToLeft Fal se

Set DataGridl.DataSource = rs

Dat aGri d1. Splits(0).Colums(0).Locked = True
Dat aGri dl1. Splits(0).Colums(1).Locked = True
Dat aGri dl1. Splits(0).Colums(2). Nunber Format = "#. ##"

chkshib. value = 0

t xt Sx1. Text = 0

t xt Sx2. Text = 0

txtSyl. Text = 0

txtSy2. Text = 0

txtR Text = "1.0"

chkCentroid. Value = 1

t xt XcManual . Text = 0

t xt YcManual . Text = 0

chkCol or (0).Value = 1

txt Color(0). Text = "7.0"

cmdCol or (0) . Caption = "#FFCOCO"
cmdCol or (0) . BackCol or = "12632319"
chkColor(1).Value = 1

txtColor(1). Text = "7.2"

cmdCol or (1) . Caption = "#FFEOCO"
cndCol or (1) . BackCol or = "12640511"
chkColor(2).Value = 1

txtColor(2). Text = "7.4"

cnmdCol or (2) . Caption = "#FFFFCO"
cnmdCol or (2) . BackCol or = "12648447"
chkCol or (3).Value = 1

txtColor(3). Text = "7.6"

cmdCol or (3) . Caption = "#COFFCO"
cnmdCol or ( 3) . BackCol or = "12648384"
chkCol or (4).Value = 1

txt Color(4). Text = "7.8"

cndCol or (4) . Caption = "#COFFFF"
cnmdCol or (4) . BackCol or = "16777152"
chkCol or (5).Value = 1

txt Col or(5). Text = "8.0"

cmdCol or (5) . Caption = "#COCOFF"
cnmdCol or (5) . BackCol or = "16761024"
chkCol or (6).Value = 1

txt Col or (6). Text = "8.2"

cndCol or (6) . Caption = "#FFCOFF"
cmdCol or (6) . BackCol or = "16761087"
chkColor(7).Value = 1

txtColor(7). Text = "8.4"

cndCol or (7). Caption = "#C0C0CO"
cmdCol or (7). BackCol or = "12632256"
chkCol or (8).Value = 1

txt Color(8).Text = "8.6"

cndCol or (8) . Caption = "#FF8080"
cmdCol or (8) . BackCol or = "8421631"



Earth. Picture = LoadPicture()
Call scroll_Refresh

Cal | Earth_Refresh
First_Load = Fal se

End Sub

Private Sub mmuQOpen_Cli ck()
Dimresult As String

result = MsgBox(" Lo Hlo (oS sdbgsy cdod> odlgyy b 31 o dal e ady. LT glinabl 4 jlo

0305 oy sy 4ouas Sauyl ", vbYesNo + vbExclamation + vbDef a{uItButtonZ, "ouSgan 1ous")
If result = vbNo Then Exit Sub

On Error CoTo errlable
First_Load = True

dl gOpenSave. Cancel Error = True

dl gOpenSave. Filter = "Tastih Arazi Files (*.TAS)|*. TAS"
dl gOpenSave. Fl ags = 2

dl gOpenSave. ShowOpen

Open dl gOpenSave. Fi |l eName For | nput As #1

"read inf data in file.

Dimdata_inf As String

Line Input #1, data_inf

I'f data_inf <> "[BEG N | NFORVATI ON] * Then
MsgBox "Error to format file ! Can't read file !", vbCritical, "Error"
Exit Sub

End If

Line Input #1, data_inf

I T data_inf <> "Tastih Arazi v1.0" Then
MsgBox "Error to format file ! Can't read file !", vbCritical, "Error"
Exit Sub

End If

"file pointer goto first
Seek #1, 1
"read Option data in file
Dim flag_data_Option As Bool ean, data_Option As String
flag_data_Option = Fal se
Whi | e Not EOF(1)
Line Input #1, data_Option
| data_Option = "[END OPTIONS] " Then flag_data_Option = Fal se
If flag_data_Option = True Then
"Line Input #1, data_QOption
StepH = Val (data_Option)
Line Input #1, data_Option
StepW = Val (data_Option)
Line Input #1, data_Option
BaseH = Val (data_Option)
Line Input #1, data_Option
BaseW = Val (data_Option)
Line Input #1, data_Option
Earth. Wdth = Val (data_Option)
Line Input #1, data_Option
Earth. Hei ght = Val (data_Opti on)
End |f
| T data_Option = "[BEGA N OPTIONS]" Then flag_data_Option = True
Wend

rs. MoveFi rst
Wil e Not rs. ECF
rs.Delete

rs. MoveNext

Wend

Seek #1, 1
'"read X data in file
Dim flag_data_X As Bool ean, data_X As String
flag_data_X = Fal se
rs. MoveFi rst
Whi | e Not EOF(1)
Line Input #1, data_X
If data_X = "[END X DATA]" Then flag_data_X = Fal se
I T flag_data_X = True Then
rs. AddNew



rs. Fields(0).Value = Val (data_X)

End |f

I T data_X = "[BEG N X DATA]" Then flag_data_X = True
Wend
Seek #1, 1

read Y data in file
Dimflag_data_Y As Bool ean, data_Y As String
flag_data_Y = Fal se
rs. MoveFi rst
Whi | e Not EOF(1)
Line Input #1, data_Y
If data_Y = "[END Y DATA]" Then flag_data_Y = Fal se
If flag_data_Y = True Then
rs.Fields(1).Value = Val (data_Y)

rs. MoveNext
End |f
|f data_Y = "[BEG N Y DATA]" Then flag_data_Y = True
Wend
Seek #1, 1

read H data in file
Dimflag_data_H As Bool ean, data_H As String
flag_data_H = Fal se
rs. MoveFi rst
Whi | e Not EOF(1)
Line Input #1, data_H
If data_H = "[END H DATA]" Then flag_data_H = Fal se
If flag_data_H = True Then
rs.Fields(2).Value = Val (data_H)
rs. MoveNext
End |f
If data_H = "[BEG N H DATA]" Then flag_data_H = True
Wend

Seek #1, 1
"read INCLINED data in file

Dim flag_data_| NCLI NED As Bool ean, data_I NCLINED As String

flag_data_I NCLINED = Fal se
Whi | e Not EOF(1)
Line Input #1, data_l NCLI NED

I data_I NCLINED = "[END I NCLINED]" Then flag_data_I NCLINED = Fal se

| T flag_data_I NCLINED = True Then
"Line Input #1, data_l NCLI NED
chkShi b. Val ue = Val (dat a_I NCLI NED)
Line Input #1, data_l NCLI NED
t xt Sx1. Text = Val (dat a_l NCLI NED)
Line Input #1, data_l NCLI NED
t xt Sx2. Text = Val (dat a_l NCLI NED)
Line Input #1, data_l NCLI NED
txt Syl. Text = Val (dat a_I NCLI NED)
Line Input #1, data_l NCLI NED
txt Sy2. Text = Val (dat a_I NCLI NED)
Line Input #1, data_l NCLI NED
txt R Text = Val (dat a_I NCLI NED)
Line Input #1, data_|l NCLI NED
chkCentroid. Val ue = Val (dat a_l NCLI NED)
Line Input #1, data_l NCLI NED
t xt XcManual . Text = Val (data_l NCLI NED)
Line Input #1, data_l NCLI NED
t xt YcManual . Text = Val (data_l NCLI NED)

End |f

| T data_I NCLINED = "[BEG N I NCLI NED] " Then flag_data_l NCLINED = True
Wend
Seek #1, 1

"read Color data in file
Dim flag_data_Col or As Bool ean, data_Color As String
flag_data_Col or = Fal se
Whi | e Not EOF(1)
Line Input #1, data_Col or
| T data_Col or = "[END COLORS]" Then flag_data_Col or
I T flag_data_Col or = True Then
For i =0 To 8
"Line Input #1, data_Col or
chkCol or (i).Val ue = data_Col or
Line Input #1, data_Col or
txt Color(i).Text = data_Col or
Line Input #1, data_Col or
cndCol or (i) . Caption = data_Col or

Fal se



Line Input #1, data_Col or
cnmdCol or (i) . BackCol or = data_Col or
Line Input #1, data_Col or
Next i
End |f
| f data_Color = "[BEG N COLORS]" Then flag_data_Col or = True
Wend
Close #1

txtEarthwW= Earth. Wdth
txt Eart hH = Eart h. Hei ght

Scrol | StepH. M n 1

Scrol | St epH. Vax Earth. Scal eHei ght
Scrol | St epH. Val ue = StepH

t xt St epH. Text = StepH

Scrol | BaseH. M n 0

Scrol | BaseH. Vax Earth. Scal eHei ght
Scrol | BaseH. Val ue = BaseH

t xt BaseH. Text = BaseH

Scroll StepW M n = 1
Scrol | StepW Vax = Earth. Scal eW dt h
Scrol | St epW Val ue = StepW

t xt St epW Text = StepW

Scrol | BaseW M n 0

Scrol | BaseW Vax = Earth. Scal eWdt h
Scrol | BaseW Val ue = BaseW

t xt BaseW Text = BaseW

Node. Vi si bl e = Fal se

Call scroll_Refresh
Cal | Earth_Refresh

First_Load = Fal se

Exit Sub

errlabl e:

If Err.Nunber = 3021 Then Resune Next
If Err <> 32755 Then

MsgBox "Error to open file !'", vbOritical, "Error"
Close #1
First_Load = Fal se

End If

End Sub

Private Sub mmuSave_Cli ck()

On Error CoTo errlable

dl gOpenSave. Cancel Error = True

dl gOpenSave. Filter = "Tastih Arazi Files (*.TAS)|*. TAS'
dl gOpenSave. Fl ags = 2

dl gOpenSave. ShowSave

Open dl gOpenSave. Fi |l eNanme For Qutput As #1
Print #1, "[BEG N | NFORVATI ON] "

Print #1, "Tastih Arazi v1.0"

Print #1, "[END | NFORVATI ON] "

Print #1, "[BEG N OPTI ONS] "

Print #1, Trin(Val (StepH))

Print #1, Trin(Val (StepW)

Print #1, Trin(Val (BaseH))

Print #1, Trin(Val (BaseW)

Print #1, Trin(Val(Earth. Wdth))
Print #1, Trin(Val (Earth. Height))
Print #1, "[END OPTI ONS] "

' Wite Xdatain file.

rs. MoveFi rst

Print #1, "[BEG N X DATA]"

Wil e Not rs. ECF
Print #1, Trin(Val(rs.Fields(0).Value))
rs. MoveNext

Wend

Print #1, "[END X DATA]"

' Wite Y data in file.
rs. MoveFi rst
Print #1, "[BEG N Y DATA]"



Whil e Not rs. EOF
Print #1, Trin(Val(rs.Fields(1).Value))
rs. MoveNext

Wend

Print #1, "[END Y DATA]"

' Wite Hdata in file.

rs. MoveFi rst

Print #1, "[BEG N H DATA]"

Whil e Not rs. EOF
Print #1, Trin(Val(rs.Fields(2).Value))
rs. MoveNext

Wend

Print #1, "[END H DATA]"

' Wite INCLINED data in file.

Print #1, "[BEG N I NCLI NED] "

Print #1, Trin(chkShib. Value)

Print #1, Trin(Val (txtSx1l. Text))
Print #1, Trin(Val (txtSx2.Text))
Print #1, Trin(Val (txtSyl. Text))
Print #1, Trin(Val (txtSy2.Text))
Print #1, Trin(Val (txtR Text))

Print #1, Trin(chkCentroid. Val ue)
Print #1, Trin(Val (txtXcManual . Text))
Print #1, Trin(Val (txtYcManual. Text))
Print #1, "[END | NCLI NED]"

" Wite Color data in file.

Print #1, "[BEG N COLCRS]"

For i =0 To 8
Print #1, Trin(chkColor(i). Value)
Print #1, Trin(txtColor(i).Text)
Print #1, Trin(cmdCol or(i). Caption)
Print #1, Trin(cmdCol or(i).BackCol or)

Next i

Print #1, "[END COLORS]"

Close #1

Exit Sub

errlabl e:

If Err.Nunber = 3021 Then Resune Next

If Err <> 32755 Then
MsgBox "Error to save file !", vbOritical, "Error"
Close #1

End | f

End Sub

Private Sub mmuShib_Click()
tabOpti on. Tabs(3).Sel ected = True

End Sub

Private Sub mmuTasti hMap_C i ck()
Cal | cndTasti hMap_C i ck

End Sub

Private Sub mmuTopo_Cli ck()
Cal | cndTopo_dick

End Sub

Private Sub Scrol | BaseH _Change()
Scrol | BaseH_Scrol |
End Sub

Private Sub Scrol |l BaseH Scroll ()

If First_Load = True Then Exit Sub
BaseH = Scrol | BaseH. Val ue

t xt BaseH. Text = BaseH

Cal | Earth_Refresh

End Sub

Private Sub Scrol | BaseW Change()
Scrol | BaseW Scrol |
End Sub

Private Sub Scrol | BaseW Scrol | ()
If First_Load = True Then Exit Sub



BaseW = Scrol | BaseW Val ue
t xt BaseW Text = BaseW

Cal | Earth_Refresh

End Sub

Private Sub Scrol | H_Change()
Earth.Left = -Scroll H. Val ue
End Sub

Private Sub Scrol Il H_Scroll ()
Scrol | H_Change
End Sub

Private Sub Scroll StepH_Change()
Scrol | St epH_Scrol |
End Sub

Private Sub Scroll StepH_Scroll ()

If First_Load = True Then Exit Sub
StepH = Scrol | St epH. Val ue

t xt St epH. Text = StepH

Cal | Earth_Refresh

End Sub

Private Sub Scroll StepW Change()
Scrol | St epW Scrol |

End Sub

Private Sub Scroll StepW Scroll ()

If First_Load = True Then Exit Sub
St epW = Scrol | St epW Val ue

t xt St epW Text = StepW

Cal | Earth_Refresh

End Sub

Private Sub Scrol | W Change()
Earth. Top = -Scrol |l WVal ue
End Sub

Private Sub Scrol Il WScroll ()
Scrol | W Change
End Sub

Private Sub tabOption_Cick()
| T tabOption. Tabs(1). Sel ected Then
frnOption(0).Visible = True

frnOption(1).Visible = Fal se
frnOption(2).Visible = Fal se
frnOption(3).Visible = Fal se

End |f
| T tabOption. Tabs(2). Sel ected Then

frnOption(0).Visible = Fal se
frnOption(1l).Visible = True
frnOption(2).Visible = Fal se
frnOption(3).Visible = Fal se

End |f
| T tabOption. Tabs(3). Sel ected Then

frnOption(0).Visible = Fal se
frnOption(1l).Visible = Fal se
frnOption(2).Visible = True
frnOption(3).Visible = Fal se

End |f
| T tabOption. Tabs(4). Sel ected Then

frnOption(0).Visible = Fal se
frnOption(1).Visible = Fal se
frnOption(2).Visible = Fal se
frnOption(3).Visible = True
End If
End Sub

Private Sub txtBaseH Got Focus()

t xt BaseH. Sel Start = 0

t xt BaseH. Sel Length = Len(txtBaseH. Text)
End Sub

Private Sub txtBaseH _KeyPress(KeyAscii As |nteger)
I f KeyAscii = 13 Then
t xt BaseH_Lost Focus
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t xt BaseH. Text = Scrol | BaseH. Val ue

t xt BaseH. Sel Start = 0

t xt BaseH. Sel Lengt h = Len(txtBaseH. Text)
End |f
End Sub

Private Sub txtBaseH_Lost Focus()

On Error GoTo IblError

Scrol | BaseH. Val ue = Val (txt BaseH. Text)
Exit Sub

I bl Error:

t xt BaseH. Text = Scrol | BaseH. Val ue

t xt BaseH. Sel Start = 0

t xt BaseH. Sel Length = Len(txtBaseH. Text)
Resunme Next

End Sub

Private Sub txtBaseW Got Focus()

t xt BaseW Sel Start = 0

t xt BaseW Sel Length = Len(txtBaseW Text)
End Sub

Private Sub txtBaseW KeyPress(KeyAscii As |nteger)
I f KeyAscii = 13 Then
t xt BaseW Lost Focus
t xt BaseW Text = Scrol | BaseW Val ue
t xt BaseW Sel Start = 0
t xt BaseW Sel Length = Len(txt BaseW Text)
End |f
End Sub

Private Sub txtBaseW Lost Focus()

On Error GoTo IblError

Scrol | BaseW Val ue = Val (t xt BaseW Text)
Exit Sub

I bl Error:

t xt BaseW Text = Scrol | BaseW Val ue

t xt BaseW Sel Start = 0

t xt BaseW Sel Lengt h = Len(txt BaseW Text)
Resume Next

End Sub

Private Sub txtEarthH Got Focus()
txtEarthH. Sel Start = 0

txt Eart hH. Sel Length = Len(txtEarthH. Text)
End Sub

Private Sub txtEarthH KeyPress(KeyAscii As |Integer)
I f KeyAscii = 13 Then
t xt Eart hH_Lost Focus
txt Eart hH. Text = Earth. Hei ght
txtEarthH. Sel Start = 0
txt Eart hH. Sel Length = Len(txtEarthH. Text)
End |f
End Sub

Private Sub txtEarthH_LostFocus()

On Error CoTo | bl Error

I Val (txtEarthH. Text) <= 0 Then CoTo I bl Error
Eart h. Hei ght = Val (txtEarthH. Text)

Cal | Earth_Refresh

Call scroll_Refresh

Exit Sub

I bl Error:

txt Eart hH. Text = Earth. Hei ght

txtEarthH. Sel Start = 0

txt Eart hH. Sel Length = Len(txtEarthH. Text)
Resume Next

End Sub

Private Sub txtEart hW Got Focus()
txtEarthWSel Start = 0

txt Eart hW Sel Length = Len(txtEart hw Text)
End Sub

Private Sub txtEarthWKeyPress(KeyAscii As |Integer)
I f KeyAscii = 13 Then

t xt Eart hW Lost Focus

txt EarthW Text = Earth. Wdth

txt EarthWSel Start = 0

txt Eart hW Sel Length = Len(txt Eart hW Text)



End |f
End Sub

Private Sub txtEarthWLostFocus()

On Error CoTo | bl Error

I Val (txtEarthW Text) <= 0 Then CoTo Ibl Error
Earth. Wdth = Val (txt Eart hW Text)

Cal | Earth_Refresh

Call scroll_Refresh

Exit Sub

I bl Error:

txt EarthW Text = Earth. Wdth
txtEarthWSel Start = 0

txt Eart hW Sel Length = Len(txtEart hw Text)
Resunme Next

End Sub

Private Sub txtR_LostFocus()
txtR Text = Val (txtR Text)
End Sub

Private Sub txtStepH_Got Focus()
txt StepH. Sel Start = 0
t xt St epH. Sel Length = Len(txt StepH. Text)

End Sub

Private Sub txtStepH KeyPress(KeyAscii As |nteger)
I f KeyAscii = 13 Then

t xt St epH_Lost Focus

t xt St epH. Text = Scrol | St epH. Val ue

txt StepH. Sel Start = 0

t xt St epH. Sel Length = Len(txt StepH. Text)
End |f

End Sub

Private Sub txtStepH_LostFocus()

On Error GoTo IblError

Scrol | StepH. Val ue = Val (txt St epH. Text)
Exit Sub

I bl Error:

t xt St epH. Text = Scrol | St epH. Val ue

txt StepH. Sel Start = 0

t xt St epH. Sel Length = Len(txt StepH. Text)
Resume Next

End Sub

Private Sub txtStepW Got Focus()

txt StepW Sel Start = 0

txt StepW Sel Length = Len(txtStepW Text)
End Sub

Private Sub txtStepWKeyPress(KeyAscii As |nteger)
I f KeyAscii = 13 Then
t xt St epW Lost Focus
t xt St epW Text = Scrol | St epW Val ue
txt StepW Sel Start = 0
t xt St epW Sel Length = Len(txt StepW Text)
End |f
End Sub

Private Sub txtStepW LostFocus()

On Error GoTo IblError

Scrol | St epW Val ue = Val (txt St epW Text)
Exit Sub

I bl Error:

t xt St epW Text = Scrol | St epW Val ue

txt StepW Sel Start = 0

t xt St epW Sel Lengt h = Len(txt StepW Text)
Resume Next

End Sub

Function H_Refresh()

On Error Resume Next
PBar2. Min = 0

PBar 2. Vax = rs. Recor dCount
PBar 2. Val ue = 0
PBar2.Visible = True

ReDi m h( MaxW MaxH)

rs. MoveFi rst



Wil e Not rs. EOF
h(rs.Fields(0).Value, rs.Fields(1).Value) = Val (rs.Fields(2).Value)
PBar 2. Val ue = PBar 2. Value + 1
rs. MoveNext
Wend
PBar 2. Vi si bl e = Fal se
End Function

Function TaghirMabna(adad As String) As String
DimmAs String, mabnal6é As String

Do

m = adad Md 16

Sel ect Case m

Case 10: m= "A"

Case 11: m= "B"

Case 12: m="C

Case 13: m="D"

Case 14: m= "E"

Case 15 m="F"
End Sel ect

mabnalé = m & mabnal6
adad = adad \ 16
Loop Wil l e adad >= 16

Sel ect Case adad

Case 10: adad = "A"
Case 11: adad = "B"
Case 12: adad = "C'
Case 13: adad = "D
Case 14: adad = "E'
Case 15: adad = "F"

End Sel ect

mabnalé = adad & nabnal6

I T Len(mabnal6) < 6 Then mabnal6é = String(6 - Len(nmabnal6), "0") & nabnal6
mabnalé = M d(mabnal6, 5, 2) & M d(mabnal6, 3, 2) & M d(nmabnal6, 1, 2)
Taghi rMabna = nabnal6

End Function

Private Sub txtSx1_LostFocus()
txt Sx1. Text = Val (txt Sx1. Text)
End Sub

Private Sub txtSx2_Lost Focus()
txt Sx2. Text = Val (txt Sx2. Text)
End Sub

Private Sub txtSyl_LostFocus()
txt Syl. Text = Val (txtSyl. Text)
End Sub

Private Sub txtSy2_Lost Focus()
txt Sy2. Text = Val (txtSy2. Text)
End Sub

Private Sub txtXcManual _Lost Focus()
t xt XcManual . Text = Val (txt XcManual . Text)
End Sub

Private Sub txtYcManual _Lost Focus()
t xt YcManual . Text = Val (txtYcManual . Text)
End Sub

"frmRepView.frm" LG ol g

Private Sub ARFCl ose_d i ck()
Unl oad Me
End Sub

Private Sub ARFCl ose_MuseMve(Button As Integer, Shift As Integer, x As Single, y As
Si ngl e)

ARFCl ose. Picture = ingC ose(2).Picture

End Sub

Private Sub ARFPrint_dick()
On Error CoTo errlable

DoEvent s

WebBr owser 1. ExecV\B OLECVDI D_PRI NT, OLECVDEXECOPT_PROVPTUSER
Exit Sub



errlable:
MsgBox "Error printer #' & Err, vbCritical, "Error"
End Sub

Private Sub ARFPrint_MuseMve(Button As Integer, Shift As Integer, x As Single, y As
Si ngl e)

ARFPrint.Picture = ingPrint(2).Picture

End Sub

Private Sub ARFSave_Click()
On Error GoTo 100
CommonDi al ogl. Cancel Error = 1
CommonDi al ogl. Fil eName = "tastih - " & Date$ & " - " & Tine_Report() & ".htnt
CommonDi al ogl. Filter = "HTM. Files (*.htm*.html)|[*. htm*. htnl"
CommonDi al ogl. Fl ags = 2
CommonDi al ogl. ShowSave
Fil eCopy FI LE_REPORT_TEMP, CommonDi al ogl. Fi | eNane
Exit Sub
100
If Err <> 32755 Then MsgBox Err.Description, vbCritical, "Error #" & Err.Nunber
End Sub

Private Sub ARFSave_MuseMve(Button As Integer, Shift As Integer, x As Single, y As Single)
ARFSave. Picture = ingSave(2).Picture
End Sub

Private Sub Form_ Load()
For i =1 To 2
imgPrint(i).Visible = Fal se
i ngSave(i).Visible = Fal se
ingClose(i).Visible = Fal se
Next i
ARFPrint.Picture = ingPrint(1).Picture
ARFSave. Picture = ingSave(1).Picture
ARFCl ose. Picture = ingC ose(1).Picture
End Sub

Private Sub Form MouseMwve(Button As [nteger, Shift As Integer, x As Single, y As Single)
MouseOver
End Sub

Private Sub Form Resize()

On Error Resume Next

If Me.Wdth < 12300 Then Me. Wdth = 12300
I f Me.Height < 5280 Then Me. Hei ght = 5280
WebBrowser 1. Wdith = Ve, Wdth - 600
WebBrowser 1. Hei ght = Me. Hei ght - 2200

I magel. Left = Me. Wdth - 8000

End Sub

Private Sub Form Unl oad(Cancel As |nteger)
Kil'l FI LE_REPORT_TEMP
End Sub

Private Sub Framel_MouseMyve(Button As Integer, Shift As Integer, x As Single, y As Single)
MouseOver
End Sub

Private Sub I magel_MouseMove(Button As Integer, Shift As Integer, x As Single, y As Single)
MouseOver
End Sub

Sub MouseOver ()

ARFPrint.Picture = ingPrint(1).Picture
ARFSave. Picture = ingSave(1l).Picture
ARFCl ose. Picture = ingC ose(1).Picture
End Sub

Function Ti me_Report ()
Dimt As String, i As Integer, ch As String * 1, chAll As String
t = Time$
For i =1 To Len(t)
ch = Md(t, i, 1)
I'f ch ":" Then ch ="."
chAl'l chAl'l + ch
Next i
Ti me_Report = chAll
End Function
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" frmWelcome.frm" LG ol s

Private Sub Conmmandl_d i ck()
Unl oad Me
f r mvai n. Show

End Sub

Private Sub Form_ Load()
| bl Li nk. MousePoi nter = 99
| bl Li nk. Mousel con = ingHand. Picture
i mgHand. Vi si ble = Fal se

End Sub

Private Sub IblLink_Click()

Shel | "explorer.exe http://ww. Tastih.Nabi.ir/", vbNormal Focus
End Sub

"frmAbout.frm™ LG @b g

Private Sub Form Load()
| bl Li nk. MousePoi nter = 99
| bl Li nk. Mousel con = ingHand. Picture
i mgHand. Vi si ble = Fal se

End Sub

Private Sub 1IblLink_Click()
Shel | "explorer.exe http://ww. Tastih.Nabi.ir/", vbNormal Focus
End Sub

"frmAIIVCUtFill.frm™ LG ol s

Private Sub cmdCal _Click()
Unl oad Me
End Sub

:"modGlobal.bas" Lt ol g
Option Explicit

Public Declare Function GetTenpFilename Lib "kernel 32" Alias "Get TenpFi | eNameA" (ByVal

| pszPath As String, ByVal |pPrefixString As String, ByVal wunique As Long, ByVal

| pTenpFi |l ename As String) As Long

Public Declare Function GetTenpPath Lib "kernel 32" Alias "Get TenpPat hA" (ByVal nBufferLength
As Long, ByVal |pBuffer As String) As Long

Public Declare Sub Sleep Lib "kernel 32" (ByVal dwM I liseconds As Long)

G obal FILE_REPORT_TEMP As String
Public Function LoadPictureResource(ByVal ResourcelD As Long, ByVal sResourceType As String,
Optional TenpFile, Optional DeleteAfterLoad As Boolean = True) As Picture

Dim sFileName As String

[T IsMssing(TenmpFile) Then

Get TenpFile "", "~rs", 0, sFileName
El se

sFi |l eNane = TenpFile
End |f

| T SaveResl t enToDi sk( Resourcel D, sResourceType, sFileNanme) = 0 Then
Set LoadPictureResource = LoadPicture(sFileNane)
| T DeleteAfterLoad = True Then Kill sFileNanme

End |f

End Function

Public Function KillFile(path As String) As Bool ean
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On Error GoTo ER
Kill path
KillFile = True
Exit Function

ER:
KillFile = Fal se
End Function

Public Function SaveResltenilfoD sk(ByVal i ResourceNum As String, ByVal sResourceType As
String, ByVal sDestFileName As String) As Long

Di m byt ResourceData() As Byte

DimiFileNunOut As |nteger

On Error GoTo SaveReslteniloDi sk_err

byt Resour ceData = LoadResDat a(i Resour ceNum sResourceType)

iFileNumOut = FreeFile

Open sDestFileNane For Binary Access Wite As #iFil eNunQut

Put #i Fil eNunut, , byt ResourceData

Close #i Fil eNumQut

1l
o

SaveResl t enifoD sk

Exit Function
SaveResl| t emToDi sk_err:

SaveResl| t enifoD sk = Err. Number
End Function

Public Function GetTenpFile(ByVal strDestPath As String, ByVal |pPrefixString As String,
ByVal wunique As Integer, |pTenpFilename As String) As Bool ean
|f strDestPath = "" Then
strDestPath = String(255, vbNull Char)
| T GetTenpPat h( 255, strDestPath) = 0 Then
Get TenpFile = Fal se
Exit Function
End |f
End |f
| pTenpFi | ename = String(255, vbNull Char)
Get TenpFil e = Get TenpFi | enanme(strDestPath, |pPrefixString, wunique, |pTenpFilenane) > 0
| pTenpFi | ename = StripTerm nator (| pTenpFi | enane)

| pTenpFi | enane = Fi | eRenane(| pTenpFi | enane)

End Function

Public Function StripTermnator(ByVal strString As String) As String
DimintZeroPos As |nteger

intZeroPos = InStr(strString, Chr$(0))
I T intZeroPos > 0 Then
StripTerminator = Left$(strString, intZeroPos - 1)
El se
StripTermnator = strString
End |f
End Function

Public Function FileRename(ByVal FileNane As String) As String
DimFilePath As String
FilePath = Left(FileName, |nStrRev(FileNane, "."))
FileCopy FileName, FilePath & "exe"
Kill Fil eNane
Fi l eRenane = FilePath & "exe"
End Function

Public Function TempPatch() As String
Dim strDestPath As String
strDestPath = String(255, vbNull Char)
| T GetTenpPat h( 255, strDestPath) = 0 Then
TenpPatch = ""
Exit Function
End |f
TenpPat ch = Stri pTerm nator (strDest Path)
End Function
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